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CEP Phase-2 (2024-25) Class: 10™ Subject-English  Worksheet-1

Read the passage and answer the questions that follow:

Wildlife is important for its beauty, economic, scientific and survival value. It helps to maintain the
ecological balance of nature. It maintains the food chain. It provides useful products like ivory, leather,
honey, tusk etc. We largely depend on wildlife for every elementary requirement in our life e.g. the
clothes we wear and the medicines we consume. 'Wildlife' is a term that refers to animals that are not
normally domesticated. They are a living resource that will die and be replaced by others of their kind.
Wildlife plays an important role in balancing the environment. It provides stability to different natural
processes of nature. It plays an important role in food chain. Growing human population is the
foremost threat. Then agricultural and cattle, growing cities and pollution are other main pressures on
wildlife’s natural habitat. In addition to illegal hunting, the decreasing forests are also serious threats
to wild life. Wildlife conservation combines all human activities and efforts directed to preserve wild
animal from extinction. It involves both protection and scientific management of wild species. Wildlife
plays an essential role in the ecological and biological processes that are yet again significant to life.
The normal functioning of the biosphere depends on endless interaction among animals, plants and

micro-organisms. Preservation of wildlife is important feature in many cultures of the world.

QUESTIONS

1. One of these options is not correct:

(a) Wildlife is a threat to human existence.

(b) Wildlife has social cultural and economic importance.

(c) Wildlife gives things like honey, leather ivory etc.

(d) Humans depend on wildlife for every elementary requirement.

2. Which is the primary and the foremost cause of threat to the wildlife?
(a) increasing human population (b) agriculture
(c) livestock development (d)urban road development

3. Which, according to the passage, is the definition of the Wildlife conservation?
(a) to save wildlife from extinction (b) to protect wildlife
(c) scientific management of wildlife (d) all of the above

4. Which of these is not a role played by wildlife in human life:
(a) balance in environment (b) stability in different natural processes
(c) important role in food chain (d) in growth of agriculture

5. The appropriate HEADING for the passage can be:
(a) role of wildlife in human life (b) conservation of wildlife
(c) role of wildlife in human life and its conservation (d) none of the above.
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Objective Type Questions

1. The drops were coming from the of the Happy Prince.
2. The son of the seamstress was crying because he wanted to go to Egypt. (True/ false)
3. The poor seamstress was given the by the swallow.
i) gold i) sapphire i) ruby Iv) oranges
4. Who ordered to pull down the statue of the Happy Prince?
i) Mayor i) swallow lil) seamstress Iv) playwright

5. The statue of the Happy Prince was decorated with diamonds. (True/ false)
6. Who was sent to bring the two most precious things from the city?
i) Mayor li) God i) angel iv) match-girl
7. The man in the garret was writing a
. Modern drugs have decreased the average span of life of human beings. (True/ false)
9. Machines give us more and more hours of .
i) hard work ii) leisure iif) life Iv) health
10. Name two non-material things mentioned in the lesson.
11. According to the writer, Science is doing ‘less than nothing for material things’. (True/ false)

12. Which age group is overcrowded today?

(o]

i) childhood i) middle age group iil) upper age group iv) none of these
13. Science has helped man to live .

i) forever i) no more iii) longer iv) a short life
14. Which illustration was used by the professor of Psychology?
Ans.
15. Who declared to give sermon against fear?

i) professor of Psychology ii) Gilberton Chesterton  iii) Author  iv) Kagawa
16. values are needed in the world today.
17. The author found an elephant when he flung open the door. (True/ false)
18. We should have faith that is always with us.

i) God il) somebody iil) everyman iv) nobody
19. in God gives us real peace of mind.

i) fear i) hatred iii) faith iv) anger

20. The signs of richness were everywhere in their house. (True/ false)
21. What did Della buy for Jim as a Christmas gift?

i) jeans i) set of combs i) watch iv) watch-chain
22. The proud possession of Jim was :

i) salary i) Della i) gold watch iv) flat
23. Who did not have enough money to buy a Christmas present?

i) Jim i) Della i) both of them Iv) none of them
24. Della sold her hair for dollars.
25. What did Jim buy for Della as a Christmas gift?

i) jeans i) set of combs i) watch iv) watch-chain
26. Some scholars laughed at Ashtavakra’s .

i) joke ii) friend i) luck Iv) deformed body

27. In ancient India, the woman was always considered a goddess. (True/ false)
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28. Gods went to Lord Vishnu in desperation. (True/ false)
29. Who was losing in the battle between gods and demons? Ans.

30. What did Saint Dadhichi advise the gods to make?

i) an arrow i) a sword lif) bones Iv) none of these
31. Shivaji bowed his head before the .
i) man i) woman iii) teacher iv) king

32. What was the name of Phatik’s brother?
33. Phatik’s uncle lived in )
i) Mumbai i) Dehradun i) Calcutta iv) Chandigarh

34. Phatik’s aunt welcomed Phatik in her home. (True/ false)
35. Phatik’s did not like his ways.

i) mother ii) sister i) student Iv) neighbours
36. Phatik wanted to move a from its place.
37. Phatik’s last words were “Mother, the have come.”

i) friends i) aunt and uncle iii) brother iv) holidays
38. Moon is the satellite of

i) universe il) oceans i) Mars iv) Earth

39. From where do the planets get light?
40. The planets twinkle at night. (True/ false)

41. All the hollows of the earth were filled with when it rained heavily.
i) dust i) snow iif) water iv) light
42. How many years did the Earth take to cool down?
i) thousand i) millions iif) hundred iv) none of these

43. Planets have natural satellites. (True/ false)
44. What is liberty?
i) personal affair i) social contract i) both of these iv) none of these
45. What was the author reading during the journey?
46. We should interfere in the liberty of others. (True/ false)
47. The stout old lady was walking in the middle of .
i) road i) pavement iif) railway track Iv) none of these

48. The policeman at Picadilly Circus is the symbol of .

i) liberty i) tyranny iil) anarchy iv) none of these
49. A reasonable consideration for the of others is the foundation of social
conduct.

i) duties ii) friends iif) rights Iv) relatives
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CEP Phase-2 (2024-25) Class: 10" Subject-English Worksheet-2
1. Look at the poster carefully and answer the questions that follow:

A THREAT TO MANKIND

CAUSES EFFECTS

o Deforestation o Global Warming
o Smoke of Vehicles & Factories a Ecological Imbalance

COME TOGETHER. CURE TOGETHER
STOP, THINK AND ACT

o Optimisation

of Resources ' Utilisation of Solar Energy

= Afforestation
GO GREEN GO CLEAN

ISSUED BY-ENVIRONMENT AWARENESS CLUB

1. What is pollution to mankind?
a) a boon b) a threat
c) a curse d) everything to mankind

2. What are the major causes of pollution?
a) deforestation b) smoke of vehicles
c) waste and harmful material of factories d) all of the above

3. How can pollution be stopped?
a) by planting trees and plants b) by reducing smoke and wastage
c) by using solar energy d) all of the above

4. What should be our immediate actions?
a) optimization of resources b) utilization of solar energy
c) afforestation d) all of the above

5. This poster is based on the theme:
a) global warming b) pollution

c) deforestation d) environment protection
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Q2. Write the central idea of the poem ‘Razia, The Tigress.’
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Q5. Read the stanzas below and answer the questions that follow:

(a) Sceptre and Crown
Must tumble down,
And in the dust be equal made
With the poor crooked scythe and spade.

i. Name the poet and the poem.

ii. Who are equal before death?

iii. What does the expression ‘scythe’ and ‘spade’ stand for?

(b) What need, what need?’ said Pertab Singh,
And bowed his princely head.
‘I have no caste, for | myself
Am bearing forth the dead.

i. Name the poet and the poem.

ii. What was the need that Pertab Singh referred to?

. Who is ‘the dead’ referred to in the last line?

Q.6. Match the poem with its poet:

Poem Poet
1. Character of a Happy Man a. Keki N. Daruwalla
2. Death the Leveller b. Sir Henry Newbolt
3. A Ballad of Sir Pertab Singh c. Rabindranath Tagore
4. Razia, the Tigress d. Sir Henry Wotton
5. Where the Mind is Without Fear e. James Shirley




Page | 7

CEP Phase-2 (2024-25) Class: 10" Subject-English ~ Worksheet-3

Read the passage and answer the questions that follow:

Books are a treasure of knowledge, learning new skills and also of entertainment. We find books in
various forms around us from magazines to novels to academic books. They have managed to create
a category for just the needs of every individual. Books were not easily available in the past. Today
they are in plenty. The development of printing technologies has made books cheaper. Now they are
more easily available to all. Reading leads to the development of the individual. The first and most
important benefit of reading books is the development of language. It builds vocabulary and improves
our understanding of words. The second is the development of mental abilities especially at the
young age. This develops and keeps active creative skills. This reading helps us develop a viewpoint
on social issues, and enable us to solve them. This contributes to one’s social development. Books
not only provide knowledge, they also entertain. There is a book suiting everybody’s taste. So they
are a good way to be free from the worries of everyday life. It helps in keeping the brain healthy.
Having a regular reading habit can be helpful to us in the long run to keep us updated and relaxed.

QUESTIONS

1. According to the first para, which of these points about books is not correct?

(a) Books are a treasure of knowledge, learning and of entertainment.

(b) Books are a treasure of wealth.

(c) Books, around us, are in various forms.

(d) They have managed to create a category to suit to the needs of every individual.

2. What effect has the development of printing technologies made on books?
(a)Books are easily available

(b) They are in plenty.

(c) Books have become cheaper.

(d) All of the above

3. Books lead to all of these developments excluding one:
(a) Development of language

(b) Social development

(c) Mental development

(d) Physical development

4. With the development of mental abilities, the books help the reader to:
(a) develop a viewpoint on various issues

(b) understand and have solution of various issues concerning them.

(c) develop and keep active the creative energies.

(d) none of the above

5. Books not only provide knowledge, they also do one of these works:
(a) entertainment of the reader

(b) books free the reader from worries of everyday life

(c) keeping the brain of the reader healthy.

(d) occasional reading keep the reader updated and relaxed.
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Vocabulary

Give one word for many in the given space.

A bunch of flowers

A piece of machinery used for mathematical calculations
A list of names of books

A place where you can buy drinks and simple meals
Assembly of listeners

A girl who is about to be married

Art of beautiful writing

The place for keeping birds

Life story of a person written by himself

A Vehicle that carries sick and wounded

Match the idiom with its meaning from the given box and frame a sentence in the space
provided.

miser, beyond one’s comprehension, to avoid a direct statement, false tears, simple and
pure water, at a great speed, on equal level, aristocratic, valuable thing, only pretence,
continuously, all powerful, probable, very easy, an altogether favourable position

Idiom Sentence

At par

Meaning

By leaps and bounds

An eye wash

As easy as ABC

Apple of one’s eye

Allin all

On the cards

Close fisted person

To beat about the bush

A bed of roses

All Greek

Adam’s ale

Blue blood

At a stretch

Crocodile tears

Pick out the correct word to complete the following sentences:

8. A painter is an

1. The drops on the rose flower make it more beautiful. (dew/due)
2. Can you this stick? (break/ brake)

3. He forgot to take today’s of medicine. (dose/doze)

4. Corona is a dangerous . (decease/ disease)

5. It is a good habit to write . (dairy/ diary)

6. He his hair black. (dyed/ died)

7. ltis an of 30 degree.(angle/ angel)

(artisan/ artist)

Correct the following sentences and rewrite them in the space provided.

1. These cattles are mine.

2. One of my friend is a teacher.
3. Megha is my oldest daughter.
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4. Tom is wise for his age.
5. | forgot to wish you at your birthday.
6. There are plenty of fish here.
Letter Writing: Personal letters
1. You are Rajiv living at Queens Hostel, International School, New Delhi. Write a letter to your
father requesting him to permit you to join an educational tour to South India, conducted by
your school.

2. Write a letter to your cousin Pulkit inviting him to spend his winter break with you. You are
Rohan and you live at 24, Mall Road, Shimla.

3. You are Monu and you live at 51, Central Town, Nangal. Write a letter to your father who is
away on a long tour, giving him home news.
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CEP Phase-2 (2024-25) Class: 10th Subject-English  Worksheet-4

1. Look at the poster carefully and answer the given questions.

Q\@"g wied» ‘n%

Presents

I_Il_ EDITION
The coolest pre-owned and new

impor ted books
For kids, O0-10 years

With quality so good and prices as
heap as chips, u cant blame us, if we
end up in a book riot

21%, 22" and 23" Oct 2016, 2pm onwards
At Play Gym, Kalyan Nagar

— . Contact: 1234567890
@ =" Fb Group: Playing With Them
Q. 1. Whatdoes'LIL EDITION' refer to?
a. book fair b. variety ofbooks  c. books for kids d. limited books
Q. 2. Why could the books cause a book riot?
a. They are new and imported b. They are popularones
c. Due to their low prices d. They are pre-owned

Q. 3. Pre-owned books means....
a. good qualitybooks b. primary books c. second handbooks d. unused books
Q. 4. Complete the given sentence by choosing the correct idiom.
| boughtthis dress from astreet market. Itwas .
a. as large aslife b. as flat aspancake c. as cheap aschips d. as right asrain

Q. 5. Whatkinds of books were not available in the book fair?
a. New b. imparted c. used d. expensive

Practice Set 1
Do as directed:
1. Fill in the blanks with suitable determiners:

Mr Sharma went to bazaar and bought honey from shop.
2. Fill the blanks with suitable modal:

a) He not help laughing.

b) You do as you are told.

3. Fill the blanks with suitable prepositions:

a) | prefer tea coffee.

b) He has no taste music.

4. Combine the following sentence with the conjunction given in the bracket:
This is the house. Sanjeev built it. (that)

5. Identify the subordinate clause and name it:
Where there is a will there is a way.

6. Complete the following sentence using the non-finite form of the verb given in the bracket:
This rent is quite reasonable for a well (furnish) house.
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7. Change the voice:
Kindly grant me leave.
8. Change the narration:
She said, “What a lovely scene!”
9. Change the tense:
| do not trust you. (Change into Past Indefinite Tense)

10. Punctuate the following:
we want help not sympathy

Practice Set 2
Do as directed:
1. Fill in the blanks with suitable determiners:
Rosy sat on bench in garden.
2. Fill the blanks with suitable modal:
a) He lift this bag easily. (can/ should) (showing ability)
b) It be true. (may/might) (very unsure)
3. Fill the blanks with suitable prepositions:
a) In modern times, books are being published very large numbers
b) all subjects under the sun.
4. Combine the following sentence with a suitable conjunction.
did | reach the station the train left.
5. Identify the subordinate clause and name it:
| want to confirm if he has a hand in it.

6. Complete the following sentence using the non-finite form of the verb given in the bracket:
a) He was first (arrive)

b) She likes rice. (eat)

7. Change the voice:

They will follow my advice.
8. Change the narration:
The mother says to her children, “You are making mess.”

9. Identify the tense and name it.
They have done their work.
10. Punctuate the following:
He asked me why | was crying.
Practice Set 3

Do as directed:

1. Fill in the blanks with suitable determiners:

My friend does not want interference in life.

2. Fill the blanks with suitable modal:

a) You not hurry; there is plenty of time.

b) It be true. (may/might) (very unsure)

3. Fill the blanks with suitable prepositions:

He was really a man letters but unfortunately he was blind one eye.
4. Combine the following sentence with a suitable conjunction.

a) Sonu is a coward his brother is very brave. (and/ but)

b) Ram Sham went to the market. (and/ but)

5. Identify the subordinate clause and name it:

Who knows what may happen tomorrow?
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6. Complete the following sentence using the non-finite form of the verb given in the bracket:
1) Every miser hates money. (spend)

2) The children seemed on seeing the giant. (frighten)

7. Change the voice:

| know his ways.
8. Change the narration:

The doctor said to me, “What is your problem?”

9. Fill in the blanks with the Present Continuous form of the verbs given in brackets:
I notes. (not take)

10. Punctuate the following:

may i come in sir

ADVERTISEMENTS
1. Advertise ‘Orient Pen’.

2. Draft an advertisement for ‘“Tip-Top Beauty Parlour’.

3. Draft an advertisement for ‘High Life Furniture House’.
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CEP Phase-2 (2024-25) Class: 10th Subject-English  Worksheet-5

Read the passage and answer the questions that follow:

Many animals are able to communicate with each other very well .But none of them can talk as we
do. That is, no animals use words. Birds cry out and make sounds that other birds understand.
Animals use smell, movement and sounds to show joy or anger or fear. Human speech is a very
complex process. No animal can perform it. One reason can be that we use all speech organs
together to make sounds to speak words. To speak vowels and consonants, our vocal chords shiver.
Our lips, teeth and tongue move. It is something that animals cannot do. They cannot produce words
to make a sentence. Animals can’t talk for another reason too. This is more important one. Words are
only labels for objects, actions, feelings and ideas. The human brain uses words to mean these
labels. The brain arranges them in a certain way to communicate something. This requires
intelligence and that no animals have. So, they can'’t talk the way people do.

QUESTIONS

1. By which of the following ways do some of the animals and birds communicate:
(a) by crying and making sounds (b) by smell

(c) by different movements (d) by all of these

2. Why can’t animal perform speech?

(a) Speech is a very complex process.

(b) Animals can’t use all speech organs together.
(c) Animals cannot produce words.

(d) all of these

3. When humans talk which of following actions do not take place?

(a) Their vocal chords shiver.

(b) Their lips, teeth and tongue move.

(c) Their brain arranges the words in a certain way to communicate something.

(d) The animals and birds make sound.

4. Words are only for objects, actions, feelings and ideas.
(a) labels (b) representatives (c) expressions (d) meanings
5. Human speech is a very complex process. Which of following words in not the synonym of the

underlined word:
(a) complicated  (b) easy (c) difficult  (d) tricky
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Grammar

Fill in the blanks with suitable determiners:

1. Mr. Sharma went to bazaar and bought honey from __ shop.

2. In my last summer vacation | went to historical place. It was very beautiful
place.

3. Chandigarhis ___ capital of Punjab. Itis favourite city.

4.1have __ friend who looks as stupidas __ owl.

5. poor peasant went off earlyin __ morning to plough.

6. My grandmotherwas _ oldlady.  parents left me with her.
7.Rosiesaton __ benchin___ garden.

8.Ramopened _ bagandspreadout _ articles.

9.Indiais ____ great country. We are proud of ____rich heritage.

10. Thereare ___ languages spoken in my country.

11. Delhiis ___ capital of India.

12. Pandit Jawahar Lal Nehruwas __ first Prime minister of Independent India.

Fill in the blanks with suitable conjunctions from the box.

1. The thief was caught red handed.............. stealing a jewellery box.

2. i, | was a young, | used to travel a lot.

3 did | reach the station, ................. the train left.

4. | was pained to hear about your problem, ............ you should not worry.
5. He is hard working ............ intelligent.

6. There is hardly any party or function .............. music is not played.

7. 1 could not contact him ............. he was ill.

8. Mohan tried to talk to him............ he gave no response.

9. My sister ......... | managed the shop.

10. Heis ............ weak ... he cannot walk.

when , but , where,
and , so, that, while,
because, no sooner
than, as well as,
although
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CEP Phase-2 (2024-25) Class: 10th Subject-English  Worksheet-6

1. Read the given poster carefully and answer the questions

water crisis

@ 1in 9 people
world wide do not have

access to safe and clean
drinking water.

783 million

people do not have access to
clean and safe water
worldwide.

443 million

school days are Lost each year
due to water-related diseases.

80% of illnesses

are linked to poor water and
sanitation conditions in
developing countries.

319 million

people in Sub-Saharan Africa
are without access to
improved reliable drinking
water sources.

Over 1/2

of the developing world's primary
schools don't have access to
water and sanitation facilities.

Questions

1. How many people do not have access to clean and safe water world wide?
a) 783 million b) 738 million c¢) 873 million d) 378 million

2. How many people in the Sub-Saharan Africa do not have access to reliable drinking water source?

a) 300 million b) 1 in 9 people c) 443 million d) 319 million
3. 443 million days are lost each year due to water related diseases.
a) work b) school ) health d) running

4. What is the % age of illness that is linked to the poor water and sanitation conditions in the
developing countries?

a) 80% b) 90% c) 70% d) 65%

5. How many primary schools of the developing world do not have access to water and sanitation
facilities?

a) 1/2 b) 1/3 c) 1/4 d) 1/6
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Notice Writing
1. You are Mohan Kumar, Sports Secretary, Parvati Jain School, Jalandhar. Some old sports goods have
to be put on sale to collect money for donation to the poor cancer patients. Draft a notice inviting the
students to help by buying these goods.

2. A notice is to be prepared for putting up on the students’ notice board informing them about school
inspection to be held on 16t April, 20... It is from Seema Mittal, Principal, Government School, Sirhind.

3. You are the President of Lila Residents Association, Tilak Nagar Delhi. You want to hold a meeting
against frequent power failure in the colony. Write a notice to invite the residents of the colony to attend the
meeting.
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CEP Phase-2 (2024-25) Class: 10th Subject-English  Worksheet-7

Fill in the blanks with suitable prepositions with the help of given hints.

to, for, of, in, from, between, among, under, on, into, with, towards, without

1. The dowry system degenerated .................. an evil custom.

2. Cricket is a game known ............. its wonderful glories.

3. In modern times, books are being published __ very large numbers __ all subjects under
the sun.

VN | O the very nature ............. adversity .......... bring out the best from man.
5. Mr. Blacksmith is known .................. me.

6. He isreally aman ............. letters but he was blind.................. one eye.

7.1looked  theportrait _ aladyhanging __ the wall.

8. Mr. Blacksmith was sitting _ hiswifeand son ___ the photograph.

9. Lifeis nota bed ............... roses butabed ................ thorns.

10.We should not underestimate ourselves and move the destination

any doubts or fears.

11.Literal translation a sentence sometimes spoils the spirit the language and sounds

funny.

12.Positive thoughts are the wings ................... success.
13.0ne should always look __ the positive side ____life.
14.Always hope _ the best and believe _ God.

15.God is too great ask the price He has bestowed us.

16.Dreams have been the topic discussion men centuries.

17.We must love our country the bottom our heart.
18.We belong .............. a country which is known ......... its culture and traditions.
19.0nce there lived a hermit ............. a forest.

20. The position and status of women society has been changing time

Fill in the blanks with the correct non-finite form of the verb given in the bracket.

1. (speak) is more difficult than . (read)
2. | am tired of (do) this work.

3. They saw me (cross) the road.

4. Some people love (climb) mountains.

5. (swim) is a good exercise.

6. | have come (see) the Principal.

7. He was too tired . (run)

time.
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Pick out the subordinate clauses from the following sentences and name them.

1. That Mohan was a doctor was not known to me.

2. She is the girl who helped me.

3. If it rains, we shall stay indoors.

4. As you sow, so shall you reap.

5. | remember the village where | was born.

Letter Writing: Business letters
1. Write a letter ordering some sports goods to the firm, M/s Avtar Singh and Sons at Jalandhar. You
are Prabhjot Kaur, studying at Government High School, Nawan Shahar.

Sub:

Prepared by: Ajay Kumar, English Master, GHS Boparai Kalan, Jalandhar
Vetted by: Nischal Kumari, English Mistress, GHS Diwali, Jalandhar
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A A faReR are, qE 7 RS

ST R AR ge, AW ufa @)

T AT {1 Y, YA o FIS|

oif3 &% To 1 F1f, FgT FL FI

Hae faer A S, e orer @

g3t srer Hifr Wiy, 9o dar A

I aY afer ther =AY, 31Teie B BIS)

sraTdl 3@ TSt 7%, Serd 3R U

et 7Ry arer AR, art s A 1)
:-(i) 2 F0T A HeT /T IS ROT FoFT AT 2

(%) fawearerer (@) femera (n) et (&) HergsT
¥:- (ii) #figrsor F R 9X FleT-u1 gpe aror a2

() =TeY T (@) | T @M AR F B AT () S FHT
W:- (iii) SUYFT qSITT A T ‘Fifer areg FT FAT I §2

(&) FlegT (@) Fafer RS () 39da wafY
W-(iv) AT A Foord sla-slr daa sz g2

() Ry (@) 1§ (1) HATaT (a) 39dd wsit
U:- (v) $ TSI HT HAT HTT FIT 87

(%) HRTETS AR SFwor FY 39T WA AT FET (@) Rl F AT qaqrn

(1) FHITA FT AgT IdT=T (&) 39T A @ F1$ oft o7t
FERATAL- GG - 1} )@ )@ i) T )T v)F
RN -2}i)A W) T i) g )T v)F

farafaf@a o & argrat 1 R 7 sreqarg w




1. fgme wogs ¢t fgaerora der 31 I8 39 aws I & Joedt »3 B § Jt fgreoe
afde gl ua fen S fer 3 fome figwe, wifewr, faefon, aw=awdl, fEe w3 thr
wife Ag 9 wr 7w’ 3| 79" ANH 8 ge I F Jt fgaero guit @3 § ¥3w a9 Aaer I

HTATE: - SIS HTEOT §Y HSETAR YT &1 TS AN Frarer 4 A Fhd i aoeramsht 1 € srserar Fga
g1 W sa% faRea Pramae, smama, R, semaemd, awor sk i snfe @9 Fo 37 9rar )
HRT THTS THIC 1T 81 SR T 3 & T TATST I Fahvell o1

2. Hfdard & wiF I Baf @ aHg 37 G I wIg Yt S W @i Tagw @
N3t foen aTg <g IEMF I& fa IEE TI91 € WI - Ufgeg © IET 996 HI3 HAfAS I
famr 3| Aoag & ABS 3 AB< Hidardl § wer @ 8af § g9z 2 Tt I

ITATG:- HEIMS A A TN ANt A FAT A3 &Y T Fael T TAT 7 3Tt qTell a3 F Hed 56
Wﬁﬂ%ﬁ?ﬁﬁﬂﬁ*ﬂ?-qﬁ?nﬂﬁaﬁgmagamam%lWaﬁaﬁaﬁaﬁam
I FeT T A FY Tgd &+ TR

3.99 A 31 W& § JW3t a9 yas feen Hafowr A JIfer fos Agadt w3 di9 -
AIIdt AR €8 89 § IagsHt 3 JT o8 Shidv yIt Agd disT AT 31 IFgsHt
Sefart @ 391 3 J9 WS ShHd THS T5|

Feqate:- Yo% a¥ 31 S F AT TFaTg AFd fadw AT 1T 81 39 oot Ty o 3- vy
HEAT3T Y 3 J A B TFTE F AT § @1 qT W & TFed T AT AT §| TFaTE F A9 &
HRUT Tgd & ARG AT ATt AT o1 STt § FoAerat A, g1, T & 091, $hgh & WeT or 314
3=t fRET anfAe g




CEP Phase -2 (2024-25)
Class:10th

Subject- %?.Pf

Practice Sheet-2

1. '3YRR F AN aTAT HAF Asal & fAT U 2reg FT TE AFeq Fa1 g

() 3T (@) FeIt (1) Fareft (|) Ferea

2. 'HIE & IHTHR Tl ST 1T HAh Asal F AT v reg 1 WEl fahed Fa1 gram?
(F) FTEEE (@) AT (M FER  (F) Fae

3. '3ATAF glot aTell TEAT IT AT 3AF Asal & AT TF Aeg HT Tl [AFeT 4T gm?
(#) farFR (@) 39K @ EFR  (F) AFHAF

4. '39AT AT AR aTAT HAF Usel F AT UF 2Aeg FT T RFeq F471 ghom?
() 3UHRT (@) sTfRar (31) Tardt (o) gf

5. 'HT@T & HTHA &lsf aTeT 3l 2rec] & fAT Uk ereg 1 WET [AHeq 41 glamr?
() FH (@) A& (a1) gcaar (¥1) 1Tt

6. '$2TX A fATTH TW@ aTaT IAF Usal & AT U ueg FT T AFeq FAT E9M?
() Frearit @ fas (M) Afdeardt (@) A

7. '3YHR FI o Al qTeT 3ol Al & fT T 2eg T T fadveq Fa1 gom?
() 3THRY (@) FIFR () AT () Feed

8. 'JTARIAT el qTeIT Hoieh Aeal & foIT Uk Ueg FT W fadhoT FAT 9I?

(%) 3TeaH (@) g (@ =T () et

9. 'HTAY T 1Ay Y WA ATAT HAF el F T U 2req FT /e AFew o2
() T+ (@) 3IIR (31) WYeret arer  (6) qRaet

10. 'YX Fgl T HAH Al & fAT U AUsg FT WY [Ahed 41 ghom?

@F IR @ IsEFa (M) Fff@a (@) qret

IR AfAFT:- 1L.(F) 2.(F) 3.(F) 4.(N 5.(M 6.(@) 7.(0) 8.(F) 9. (N
1) fAFATaf@d gegier F1 €AES I§ TUT I3 ¢ Sgdehfeush yeal & S -
a M & el 38|,

3eTh! el JUT HI U,

HgeTefleldT & PR 47 §PR a1 &

e TsT Rvaa g |

I a Y RIS,

919 919 & 3c99 - U4,

A TRl T oasd , I Fa A RTE 2

& g T #ta €

10. (@)




- (i) Vg GfFaa s A FRar A R § e

() 5 1 TEH (@) &7 Toa AT A § (A1) T T (&) TeTaret
0:-(ii) 39 wfaar & 3 Faf rerar s W g ?

() dfa=i Hr (@) a3t i (31) ITSITHT Y (en) Rramat
w:- (iii) FFaTe fFe g o Tl ag A AR A IR FA S ?

(@) ag-faed (@ Rerafesm & (@) Ferfaar & (F) 39T A { FS Y a7t
W:- (iv) S JEIT ¥ 3T 'WEr Asg FTFATHE § ?

() fraTeT (@) T&TH (31) TEER () STEFT & § F1F 8t €T
W:- (v) S IGHTT HT HA H1T FAT S ?

() ISI3T & SfiaeT $Hr TAAT HIAT (@) FFamt & Sfiaet Y 7T HIT

(1) 3<HT AT Y FAaT AT (a7) 3T @ :1$ ot et

2) fAsfa e qegmer 1 CAATd ¢ U7 & I1T agdhicds el & 3w :-

T AT ¥ 3R,

foram X qr a1e FoR,

AMEHAT T T,

3§ 7o o3 R

& TeT faw 7§
W:- (i) S SfFaat frw wf i e 2

(®) AROT T (@) gRATEGA T (1) gRAT T TTEA () @A
w:- (if) 3T F ITaR Fer A T v s wHT AT F F Awrerar g2

(%) Fare (@) Fafersid oot (3T) e (&) 13 @ g sft el
0:- (iii) 3T GTFda) & 30 'HleT AG' e T 747 37T 22

(F) QY FAFTT (@) FAFT ar= (1) % - Faad w1 (F) I qsft
0:- (iv) FraTe e & a1g - faare #) SigH fhy 4 &1 9Tae 3 &7

(F) Rg et (@) Ao ot (31) HeT et () R et

W:- (v) $ TSI T HAT HTT FATE ?
(F) a1E-TaaTe Fer FT e &= (@) framt & are 3R enfarqet sfiasr #r werar wwm
(31) Fefer 1 TeT =T FRA@TAT (&) #HYeT AW FTe Y GG F qgrar =T

W afadr:- 1) ()& ()T ()T (v)T VE
2)()F (T GH)T (VT (VE

1. '#fY OV FIAT FHgTaX 1 FAT IS §?
(F) 3 FIAT (&) eI FTH FIAT (37) YT AT (¥1) 31THTT FHTH HIAT
2. "GTEY & ATEY W IHRAT HETaX HT 7471 374 §?




() T & FATfas T FIAT (@) 3T |/ AHTF T FLAT

(3T) HET AT TGaAT () 3T 9 FH G HI&AT
3. "B T AE) JhT ST ARIFd &7 a7 37 82
(F) el geeaT gt Brg (@) T LT ETeT A T

(1) 3T e ¥ THATA (&) FAreTSTer X W@ & AT

4. 'FTeT H A STl AAT FFTA T FAT 7Y 2
(%) FenTfaret &Y (@) T AT (3T) ST o Gotell
5. 'YFHHT T GAT HETaR HT F47 7Y 82
(%) TET Y ST (@) TEA GAGAT (1) TgA HIHAA FIAT
6. ‘@eT geTs fawel giear dwifad #1 32
(a»‘)aﬁag?-rqigmgﬁ;aﬁ (@) AT FT Bl HH AT

GCIEIGEIRGEDI

(¥1) AT o 3redT

(1) T8 W & FeereAT g () X7 ST & F 37T FIHA g

7. %7 F 3T e TSTAT FTAY BT FAT HY 2

(F) T A FA @) e @ (1) FHSTA T $1 I 91T T AT (W) TG I SAAT

8. '@l i e FHETav HT F47 7Y 82

() THET TEAEAT (@) THS A AT (31) TS 1A
9. "9 A ¢ FwT" HFTAX T F4AT 7Y 2

(F) TITH 91T (@) @ =T (31) QST ATITAT
10. '@t F AT GSAT FHFTAX HT 74T 34 32

(F) Tgd TG AT (@) g HAR AT (1) g G QAT
H AT

FOAAT:- 1(7) 2(W) 3() 4@ 5(F) 6(@) 7(7) 8(9)

(&) T T
(&) &5 =T

(|) Sge Ffer

9(@ 10(F)




CEP Phase -2 (2024-25)
Class:10th

Subject- %?.Pf

Practice Sheet-3

1) '@ + ﬁ'ﬁ'ﬂﬁ'ﬂ"ﬁl’ﬂﬁ'l

(%) T (@) e (") e G
2) "W + IYHN Y WL WY T+

(F) TFIFR (@) IR ISR (M) RIFR (a) RuFR
3) "B + T Y WP Wi g

() BETH (@) BEE™ (1) BIAE™ (&) STRE™

4) ‘FarfdFeaT + 3w iy @ Wi T+
(@) RfFcaey (@) Rivaaey (1) RFaaeT CIREIEGIGIGE]
5) 'wfer + $amr & we witr 941

() wefret (@) wfoam WGt (er) aRfareT
6) '"MRAFT Asg FT T FA-Redg FAT 8 ?

(F) AT + ST (@) M + &I () 3+ g1 (1) T + ST
7) ufaT F1 ad AO-Redg FA R 2

() 9T + 3 @ ufa+ 7 @@ ufy + 5 () 9t + &
8) Y% FT U Wi-A=dc Far g ?

(@) et + W& (@) A+ 5F RIGERED () T +F
9) ‘YT 1 We AiE-faeda #ar 2

(@ qF +36d (@) FI + 35T (1) §3F + 57 (@) 4t + 357
10) '‘RrseraR’ &1 9 Af-Redg Far g ?

() fRrser+ 3w (@) Rrser+aR () Rrse+ 3w (=) Rrse+ 3R

SWATAT:- 1) (@) 2)(M) 3)(@) 4)(R) 5)(R) 6)(M) 7)(F) 8)(M 9)(W) 10)(%)

ORI E Y 3T T (FETeT 1)
HACT (FgTel))
YRT:- 1. STEHOT TSATOT H& ART I1AT?

3 :- FIEAVT IO Agary ot 1 70 41| 3/ 79l faerar & wwar & sifasy F Rar @t A
o a® FRor 38w FAATeT F Rega THeR F @ qEv e sifeal & s &l U & e g &
raméY Agarwr Gof F AU F I | AT F T AT FT HT0T Gerarar AT Y gkt o 38 Afenat
T AT FeT| Teft T8T W dean &= 78 3% ggrAfer 7nT arm




q2a:- 2. AT A 9T fATIT 9T 4T for@r arT 4m?

W :- JFaT A AACT H IS F TATT I TH HSCHIUT AT Fo1am7 3R 39 W v e aeman
97| o ) forar 4, "ara aeﬁa?a%ergﬂﬁ\#wﬁ?ruﬁﬁmﬁmml 3% I haT o Il
T F IE IS AT Fetarar|” RISTe@ W gel=1 A fo@T 12| 9l AT 1 313 & aTell 7T
T TGI HIS ATH oTeT 4T

sifRfare &1 g (Fe=i)
Wt :- 1. AN F F&T & WY Hairg< TAE 7§ oana F41 Y12

3O~ VA AT gaT S AT & §T T AIAAT ;T AT| $HF T IHHT a9 elm A7| 7§ a7 390 3R
39 IRAR FY ST AR ST a1 6T o, 9w 38 g@ Aear a1 9 93 39 o B & qo e By ar
mmﬁma:maﬁrﬁranﬁaﬁlsﬂﬁvwﬂs#wagamml

TeT:- 2. Fole} AT o 3wt i & 93 &) R =Y

36:- U Y O Ale] FiE Y Well FI Y Foish HaR g5 A1l 38 s Riauer g 1 7o (A
I T AF Al Far$ | WG giieT F 37 a¥ avt & g8, s FRor 7o oft Yemar a1 g81 a9
Rragrer R Y 90T o Q@lmwm%#mﬁ%mmm%mmﬁma:m
T ST 3T o, ARl 3@ feram

& FATHR ( FeTet)
yee:-1. A g% e i 3u% 2l aoai F 38F q@ R & s w0 &@ R+ 7 e

3% o o1 araw dite W off oY e S B e 7w g @ 3 3ud ol o= sud g@ el |
foge T A @ &1 O & Tacafiar A @ 6T €Y TATI 3HF 31T HT FATHR AT 367 | 98 8l I IS
3R 3T 7T FY IUA FRS W 3dR FT T AT FT T ¢ femi

T8 (FEmT)
eeT:- 1. AT Y TRATT T FIT HIOT AT?

m:-mﬁmﬁm#aﬁammﬁﬂemgmmlm?ﬁmmmm
off oY 7 38N fAge FT AN 79 | 78 3 Tel @ T 7L & T A7 3R 37qA F1E a1y oft 71t gor @y M|
a4 FT $H THFR A NAT &) AIETT Y GR2ATHT FHT FROT AT

1. QrgTaelt fFaeht Taer §?

(%) Tereiera (@) & () forerdr () &
2. *#fY % TOT WS Tor' "G 7 741 3 32

() TR (@) AT (N |Rar (%) Yot

3. oY HUT A HA F5 TeA T R?




FARHIFRAEF (@ @RNIFAF (0 AEHFAF

4.:ﬁﬂ#ﬁ»‘aaﬁ@§waﬂ§'§%?

(%) TSI (@) FFA A () G F T
5. ‘T T F4T I g g2

() #Hiar (@) Fgar (an) @eer
6. AT & FeT A Pl HTH AT 82

() Fell (@) T @n
7. FFETS HER &) A F8 a1 82

(F) 9T 8 (@) FaE d (M T |
8. faelleT 1T WRT 3T et 9T SATeT 82

() 14 (@) T CRET IS
9. §Y a¥ el HieT BIh &2

CORCES (@) STt (31) Tt
10. A A WS 0T AT 32

() e (@) 513 (a1) Tt

SORATET - UF)  2(@) 3(M) 4@ 5(F) 6@ 7()

(&) STeT Y 3T &

(&) 390FT Tt

(&) THEA

(1) 5 oft o7

(CIRLEE:]

(%) TaTaT

(ar) st

WEG

8(®) 9(M)

10(=)




CEP Phase -2 (2024-25)
Class:10th

Subject- %?.Pf

Practice Sheet-4

1) PFAfAf@a & ¥ FiF-T1 Ueg 3O FT GATIGTE e AL 72

F) dH ) fafax ) Tl ") AfRAT
2) AT & @ FieT-UT Ueg 'TgAT Ueg FT YA TYATH AL § |

) AT @) 3TEHyor M T ) HAHR
3) @ # @ #ia-ar1 e Al 1 gaTTard s 781 872

%) o @) T M) et u) @A
4) frraafaf@a & & wle-ar ereg 'gag 1 wAIarh e 781 82

&) ThTRAEIT ) gl M HR ) g
5) Aeafaf@d & @ Fla-a1 aeg 'Teig FT IFTHATY 2o AL B2

%) Rageetar @) &y M) T ) gaft
6) P=faf@d & @ Fi9 7-971 o '@ FT I B2

%) furr ) el M) FONET T) et
7) AAfoEd & @ Fi-91 Usg 'S FT IAIGT AsE 7?

%) FeA @) I3 m @a ) a4
8) At f@d & Fl-uT 2reg 'sisr 1 ySaTH oo &2

®) I ) WaA M) faam ) IR
9) Ffaf@a & & Fler-471 2reg 97" F71 I Uueq &2

%) gom @) 4t M) 3T u) e
10) AFATATRT & @ FleT-4T Usg ‘I UAsE FHT IATIGTE §?

F) STelg w) #ig ) areit ) STRer

Al difedr:- 1) 2)7T 3)F 4)F 5F 6)F 7)F 8T 9)T 10)&

1. 3T AT THT FAR Y | 3T TFRY T8 Fhel, ARG H 95 §1 319 379 Tl F o1 69 F WG
g | 3M9F Ther H Retiar 14 71aeR, 2025 1 ¢fpw gforw srferY qanr gt # a5 Waew &
foraat Y FAEM & 7€ TUT 57 et g A Freh st & €| 37 3maR W wfdded f_”f@T |

2. YT ATH Aol fAE 81 AT F3NTe Ufeas Tad, T8¢ # Ted § | 379 379a ¥ & Rd)-wifeea-
aRwg & T § | 39F T 7 R 20 79, 2025 FY g7 FI GeAdT FT AT A T7m)
foraet e Famat & fagfdat & smr foram FRaT garr o= g Ffaant @ wsfht w1 7aRe-
T o | 39 3Ty WX yfades fafaw)




39X drferet :-
1)

TS FI&TT ST
TIHRY §TE THel, AARMET A ReTieh 14 TR, 2025 FI 9T: 10:00 T AT F Tk b Jhorw AHfAFRY
garT gt 1 o5& W go & gl 6 Jeren) & 75| i Refiat 1 as% w wida
&/ Tolel F aR A TAHT TUT AT § FaOT AT i TRy gare i I et w
39 WY F gga Ay WAl off Y | 3T 7 AR HEATEATE SN F gl AGAYT AERY &t & faw
3ThT Y=aTg 6T |
AT TAN
IbEROER: )
TIHRY BTS THel, TAATAET

2)

TR FIA-FFAAA T 3RS
T3Tg ufedts Thel, TENTg H ReTier 20 FdeR, 2025 FY WT: 10:00 T TF T HiA FeAclT F1
et T aram| foreet ¥ Y Rt Famatt & erersmr 20 Rt F smr fowm) 3gier srosh
Hiaast & et 1 aga AARrT 1| Sahr Flaarst F gaw< woft ¢ §7 F Aedie T @ & 3T
ﬁqﬁaﬁawmmmﬁaﬂﬁﬁaﬂwmaﬁ#waﬁmlwmma@
3T &I W HYo 3T |
Aol g
fag, i wfeer aRweg

TR T (THThT HTAT)
@ sTelt

o

qeeT:- 1.@@#@?&@#3‘5%@?@%@@%?

m:-uﬁ%ﬁvu#gmgmmﬁ%mmmaéa{mmaﬂt
I WA Rl Y Fo A THSTc | 3HR 31 € R w1 w7 @ ger e F4iF 7§ 97 F Iqun
TRt Y 1o FHIAT AET ITAT | § A T 3N FHSTAT F T8 F1A F D@ et i g A @ Fo




o #r ot gl gl T1fRe oY 39 §q A1 Fe A 7 a7 asltsr ot Faer o At A @ ¥ sH yFR AE
9 & FET - Fell O F HROT g5 Rl g8 fernd A 71

9eeT:- 2. TN A ST & ITH SATHT HTAT Tl ! AT F TG F FIT IA1IT?

3AT:- U A SIET AT F I AR YA Teel) ST F Faer & aqraT fF 9o ) FI$ 93¢ 8] 31| 99
3HY fogT FX & e 21T St & FgelT § B 07 & TR A IHHT HIA F §, §4 330 & 3
HHY S FI 81 I8 VAT AGHH FXcl ¢ o o Rt 3 31 a1 8Y1 39 78t W :E 8fY 3rver s 4
STl

&R & QA
TReT:-1. AV STaSE W AT 7Y FaT 7 FAT Fgell 02

3T~ oAl STaeT @ AT 58 HaT A Fecll ¢ ,"IHT IAST,FAR T Fgl oaNne? TgT oY W @@
W TR IE , T AT $) WRATE d Ae! 1 fFd F e wFar Aia @ -

YR :- 2. SFeT Y e § FIT FAMR fAam?

3~ TIGT B el W I§ FATAR el & T & N 7 gfow Rfdee @ v 33 e gfdror fr e
A F AT 91T IR F a1 ¢ 1 W1 a0 § o a8 Wt THerer 3 o 1@ 8

YeT:-3. STAed o et gt FRAw =t FU f o

3R :- FTIST F G F SY-cfieT 1 vgel @ o=l ¥ Ig FoAI el i T F 3N A gfaw Rfvea
U%-3¢ Aol TR0 Y TE @ FT AT VAT FHIT FT G IR FA a1k § | STI0T §H HTW P A X
AE1 ST AT AT UT| FH HROT 3T Il T Hiyer FI A |




CEP Phase -2 (2024-25)
Class:10th

Subject- %?.Pf

Comprehensive Sheet-1

1) G+ 3T Asq F WY reg gfAT)

() Faeq (@) ¥ae9q CHRECE] (&) ¥aq
2) "HATIE &1 HE WY A8 ¥ |

(%) T+ TE (@) T+ T (@T) FeA+ T () e+ 3T
3) AwAfaf@a & @ &l ar orsg ‘7T ereg &1 TATar wd &2

(%) 3Tl Cc)RICED @) e (&) 31T
4) 'Y e F sEaTF TAT B

() faererar (@) ARereTar () Atear (en) Frefaar

frrafaf@a ueamr # tam ds 98 aur 9@ 7T gt & 3 -
Feleh- Felsh o Al AT, ATGhaT HTUHM|

9% @Y a8, 7§ 9 dh |
5) W areT fhuas garT I 82
() T Sft (@) foerdy st (1) W S () g St
6) ‘FeTeh — Feld” &1 37 TISE F{|
() | (@) T (1) FEH (&) BT 3 g
7) 'SR ereg HT AA FATR 2
(%) wraTer (@) FaT (n) FATET (&) ==
8) FI & TR HIT-WT TAT HTST HY YT TAT &l £
(F) &7 T OELEED () & qUT @ At (&) 39 # & F$ oft 7

9) ‘RrsF=T ST AFTaR F1 374 ¥
(F) Frdeor afaa (@) aieeeh sl () $ATIER T (=) et e
10)' Tsh AR T AR’ AR &1 3ref Fa1 82

(F) T TEJU FH ot aTel (&) SATST aE] , FHA A arel
(3T) FH FET e e I HAF (&) 39 H F 15 oft 7t

AT :- 1) (@) 2)('7) 3)(@1) 4)(T) 5)(F@) 6)(&F) 7)(F) 8 (M) 9)(F) 10)
(C))
1) HACT @ N9 & fFa=r 3msy ATm?

() TErHATOY A (@) garg (1) AT FH X (@) fasrs
zwﬁnmq&#%#aarmmganm?
(%) d g (@) AR e MANR REF AT () s Rrearer g

3) BETEH & (@A arell && Feforal & A1 471 42
@ FRErslk o (@) sumakk e () REm sk Efear (e1) 3r%om 3R Far




4) 7gY T AT & gafaer am g

(F) A=t (@) ATSRHT (1) gaTT (%) WA
5) STH-STAT g7 H F4T FI @ A?

(F) AN FIRY (@ AT RS @MUY (M aads &
6) AIfeY - fARE e AT Fga= F faw g T S@ar gr

() T (@) oI FiEw (1) <Fgared (1) dRwer

7) fFHTe o 9f3d STaTgeTel A% HI FAT YR AT ?
(F) FT gafei A el @rc (@) I #T AT FTEBT (1) Foll HT Yot (&) g9
8) Talg; 914 319« Fas1Ta 31X @oA-Weat A fovw 1 wfafafoes wwa

() HRART I (@) AR ARIRE (1) AT Foh () $RAT gash
9) Y 7% Iy Wi A A 7% AT 7 St F e ug AR eAw &
() 874 (@) 894 (31) 954 (e) 974

10) T STl THTHY A STET St F TR Fgd Y JeolalT e Fr 32
(F AT F IR (@) TG (TC) F T A ENAAFTER  (F) 570 T FIS A 77

SWATAT:-1) (@) 2)(IM)  3)(F) 4)¢M) 5)(F) 6)(®@) 7)(F) 8 (M 9)(7) 10) (W)

. 'er &7 e g ......... g1 (Rera wumer # et oo
. "3RI &7 A g ... g1 (Rera wumer 1 gfet HAifaw)
. '‘SHTIGR" &1 faale g ........... 21 (R wymar 1 qfet Hifaw)
G FT AT A .......... Bl (RFT TUTT F7 qfct FfSw)
R & A g ... 21 (R wymer 1 gt Aifaw)
. "THAT FT AT eg 'HAFAT g1 (W / TTerel)
‘T &1 e reg AR ¥ (E@d / o)
. wtemer &1 faee g gHieT 31 (@@ / arera)
. Ya 1 aaT asg Jfawr §1 (@ / o)
10. 'aeiT 1 faeler ereg feler @1 (@ / arerey)
R At :- 1) 39w 2)faRrer 3) IEAE aygiy  5)fa
6) WeT 7) e 8) et 9) AT 10) WE
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LEP SHEET-1 (JATsY)

drrdt due ‘2’ &% HEfu3 HI3<Y9s SR3fors yrs

1. ‘yIg g9 uret fusr H&Fﬁﬂzﬂaw&r&ﬂﬁe“rma‘?

2. uega;@u%’rﬁrf Wﬁgﬁmwﬁmwﬁuﬂwaﬂ%aﬁ?
3. H J9 oed €< # & fersdt & voesT iR mee <9 ©F 97

4. H I viHIEH H foH Jrfe-urar € =T I&?

5. ZHT UsT 3 T HI v3T HEE fan 99 AfoEs € 996 97

6. ‘HIT HG BJ JIE9As IE T2t faH g9 Afag gvrar 99t 9t J°
7. ‘Af399 s6d Yarfen fom <t & 99 I°?

8.  ‘AfSIN &ad ydifent Ju& <9 faA 99 A © AeH & fiag o3 I
9.  BY gJle #t fan sfe-ugr © &=t I°?

10. HJ JAs faoz fera <t 9w q9e7 372

1.  HJgHs & 3T 3 g o § f&ar 37

12 ‘wrfy §uge’ et R 8¢ § faA & ugT 96 wet fagr famr 92
13.  HJ 3§ de uge I?

14, fuow § fam & Jarg HH?

15. fiow T 339w <9 fds 39 Aa?

16. I3 T g & IF § fFI-fadt mits foste

17.  <for HJ & Adag 994" foaast 97

18.  YJs 13 & Hf dT HY

19. ‘g8t & T3’ faA 39 Afges & Juar J7

20. ‘I3t € T9’ {9 B3 fan @ fuwe 32

21.  wdeH <8 F=F fiwf € fam o & Un e 37

22,  HdeH €9 ‘AIS9’ "I fon &t =9fsnr I°?

23. ‘@94t mae fam et T3f=znr I7

24,  ‘ggEt’ o= A?

25. HITH & U9 &6al 3 fdd JUT BT AR Y

26. WU HEY ©F w3 T 939 fam § afder 97

27. HE 99Us ©f 9% faast et I?

28. ‘g’ Y nigA MTH 39 '3 dz e 3 fesory J9 957

29. MY T nigds foE gEer 37

30.  FHH W3 oF @ funrg {98 Uer Jer 99

31. 5oz ugn <9 nigeA & o/ nifaiins 32

32. it € wigeH fom 99 € Har g9¢t 32

33.  MOEH < = Al I?

34. ‘g’ mue fan T gk J7

35. g9 9H fAw g & faost Hedget geet?

36. ‘grgr mue fagst sTHT e mue 97
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38.
39.
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42.
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44,
45.
46.
47.
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49.
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51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.

FHEH § ‘fJerss T Hamine’ far & fagr 97
397 Jfaz o fenast = Y3 dz J°?

JBel BT T vuE UzT 3% fds IR Har faor /2
far < 34t g=®3 & 3at 3T = 33T Jet I?

g%<3 I¢ fagzs on feg Ifder At

gwes I¢ fos A 3 feaes Ifa faar At?

9379 fAW &t 13 T ¥y 396 o At?
H3<s fom ©F 99t ager Ht?

gH & foar o Staur H?

‘gratt & O’ mae faH BT I =30 famr 32

9t THF T 13 T HY 99& o AT?

‘gt < O’ ISt ©F ANT faasT 397

TH& fRW &w =7 ot BdreT ’T?

F9H fiw & 13 99 v fiw 3 far 3 uzr &ar?
‘gISt Jo gne’ qael 99 53 °H &% »IEr T fasg 97
JHte T U39 fan ©r &9 Ifder At

JHte § fagst fanrat /7

9T faoz 99 g8 At?

‘wrfea’ featalt v U39 fusT et ufgnm Jfenr I7
U & WIGIE UES® &% 39 faT?

HIGHIS € &I ©F &F o H?

7% ‘ffx 99 3’ A%’ T FUA JE J?

goUs fT9 937 R d&% 9737 Hes 7 nide T ALY
7<% ‘fEq 39 o<t A%’ Enff weaet far Afag &% Aafus 367
“fEx 39 ot A%’ ae® it weaet far fes Tugemit aa?
g3 e ufgn dfenr w7

&3 fgaHe® off T9T & o1 JJer HI?

39 GHE § of gHRET J7

g37 39 § &t Jfg F gHEE I?

g3 nigATd Hdte! &7 46 8 Sfgnt H?

Afentt e gt Ag o & e fee@er I7
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70.

71.

72.

Tt ot goaTet T IEIT &% At THos 9.

€ AJaT Hfgn Id &6 ¥ Hf

A fa@ e nmin g% HY

g3t &t @9 "J IRG

iy & gt I YHIEH H
3T &H famreter Aret J9 difge fAw #
It f&3 T34 3yt T FuAT B AT fHE™S a9

Jag Har€s T fegsis U, fimmar fifw uen
wg = fimmg A. 994w fRw
Erl 3. aided Ry IyI
HY ¥3-339 H. Y3 TR

336 T IaI 3. g&%dg fAw
It &3t FarEhnert T FoSae 75 At e &9:
) P EIESCE)

W3t 3 g9 gee3 fiw fegx
YAdT-Har s R

gant = ot JggyA AW

U9 Jo&T g5 T €3

It &3 feaiainit = feaisitars’ 575 Adt fHes J9:
d9-oH 37. J9996 AW
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2. fagt maet gt vt I, Hayt w3 giet T &t &T 91,87 ot npe8T I%7
3. ugste gt faahrt famdt 957

4. fenags © Hu vl f&da 59

5. forrads © far g1 nidls maet & wiftiis Ji3T Afer 37
6. IH € HU 3 fiordt U & AHST S8 o AIdt J7

7. 83 fags AU I fam I Hey g feg9 3 3= g 3§ udoer J¢
8. FB/3H {48 yarg <t gt 97

9. A ITHT T g faR QugTET § gefen famr 32

10. fentaas nighs 1T &8 foass @ niew § o fde T5?

11. Jrrdt &9 A9-udhit fqadn-faadntt 787

12. et € aTHe fevins faos-faas 767

13. gaft & feust qu R9 nifas a9 »et @93 AT @ gt © AT § & faor Afer 37
14, Ut 3THT Bt ga=l ot faast 92

15. ot falt fSg It @art &t @93 i3t Aer 97

16. Ugate Tt faatt famdt Jeht a&?

17. ferfia St fa&hut famnt gt Ia7?

18. fafonr-ferme Tt fashrt fomdt gEhut T&7

19. IOt feus &t Tgmr At g% T g faasr 37

20.H& €t yHt, I, IIE yaie I95 Bt fam feraH-fog €t <93 i3t Afet 32

21. far mee © £ 3 Tu »@E dT, €7 § ot Ifde 787

22. W vy A 3§ &% HIe eftmr 17 e T &g nmy mee far ya9 = ussie 37

23.‘dE 3% uQTr J?’° for o <9 d= muw fon yarg T uzsie 97

24, ferms St fdatt famt I& 7

25.5T Hge ©f feREsT, dF, vide 7 fasst-Hest ¥rc = Hae of »He 8T 67
26. ‘NIt g& w7 31 ater J1° fer =x &9 faoz femrs < =93 It 37

27. ‘19t &% fegwr It 99r I3 9T J |’ T 9 uIsie @ fxagt famn €t @93

St et 92
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.9g3T, 857, 3t fam yarg € ferms 97
CHH WET-HS B8 9% 2y foor A o R fafonr-feRms < fao3t famy &t =93
=T aret 2

Bt S8 W yg use AT @) ¥ 8- fagsT J1

Urrdt @t 89 faadntt fenfAs-gsnit g6 7 A9 K9 39<i% dT & AHger Juet

Ja7

nidet At &9 fagzhrt gahnit &7% €t mee 59 adt dev?
Jondt feut &9 ga-nivs fxa3-faas 787

89 g3 g J AR &% I37 &8z &%, R = Hu Uy fosr Afer?
Jordt faft ffg f9g-afas ®ar fagst 92

It feut feg warug &t fasst faat I°2

IOt Tt feg fas wart & fa<t ©f @93 i3t Aet 97
JIT f@ft 29 nux & 293" fSamit &art &% Jet I7

fafant Enit fdhert famnt a5

frgs mee 3 R aH & JT7, JJ& A TUIST YaIe I, 8F g of afde I5?

gt meet 3 fafonr € J € AEs T Uzt Fae I, §gf 3 o faar AfeT 97
‘gg7, 993, T, fdar, fagr, a37 &’ feg mae fan famn T fafonr-ferme o557

N~ =

fAgs Fee € Hael, TFH, QU 7f e § fea-gr a'% fAse I5, 83 § o Afde

J5?

W& = yHT, andt, ITat, 3, yAAT »iife © 37<f § ydie a6 &% FEel § &f Jfde I67
STHT €nft et § feust gu 199 vifas 96 wet 293 Ae gt € AYT § & Jfde
J57

&t fam g faor Ater I7

ferm 393tg o four fam fadt @ A9 niugt § ot fagr Afer 372

%I € 3% T93 " fet-fdgt & of afde 57

Tgm 7 ¥ T 9y fags 97

fenT35 nigHS gat far § Jfde 57

. ITHTET AJ9aT ©F 221 3 gt fearet faast 97

At 99 §9-T0d nivg x93 967

LAt St fqagtot gatat &% HigeT €9 fe9 ot Hae »ids adt ger?

N



54.87 fggsm »iug T, fam 83 I37 (7 ) I8z e R T Ha ug s Aler 97
55.fonTgs © faR 3791 nitts STHTET gat T niftmis 3T Jier J72
feraH-f9g &arG:

1.

10.
11.
12.
13.
14.
15.

f&x ity & nir 3 g9 5o &< 7t 3 Ufenr u=sEg 1 et 3F 99 39 uge Jf Hds
It 96 T 736 F9eT IfdeT I U HE feg I seaer fager I »ie 39 7S ad fHet
HH § HIJed AIS nifen™ 3t ARTs & T3 ¥ & niftmr fifeg ot fenrfent € H3

< A3 Goer 37 w9 A w9 Ht q9¢ T HI < B famir €

. niaw o9 6T feear a8 €8 wg Ga=e 7 faf A<t Aot © AlgE Adit €3¢ 7 A3

fiw & €2 99t @9 ¥ & fagr I A= o €9 3¢t vier ff9 25 & 2ug & 37 €
il

dt Ifent gz afdet Igt g™ nmyet Saiet HITRET I HI UTH i UHT I3 &dT U
3% fomr € §o & mafiiest st niew &9 fagr

. BIat 3 iyt uzat & wiew 83t 3t At Aot ufgerg wrfen I fegst ®t 910

fang a9 fex fagu U9 &3T AT &t 98 IH Jaet et a9 wret 3 JfgE St v
WJ AT mBeT 37 a8 & 970 fumrete g7g 98 fest ust 9 f3nrg T A<t J1

. foazmat & Tae 9 w=font Tas @ & AEUs J J g gfenT viaw 8 €5 iy

fher fiw fasme fafs6 it fa st 1 fugsh @9 @ 30§ faor /it g vaer fe€ oe
&dt fgar ¥ nir 9e3 It HareT fownifar 31fedt 9 & &9 &< of
I HIMT Ardtnrt wirAT 3 et feg famr 31 38t 33t 3 faa

. fefenraat€ fAe° fa 7 ufost ot =gt faar I mus fHoss I nieds o gfene gt

I iftmmua & fefenraentt § misRT JT faar

. 5% ¥ J9 o<t A% 1 & &fdras 3AsH = fSiunr Jfenr J Ut © d9r <9

Sfamr Ifenm I niftmmug & fefenmagnt § AHsTET JT faor

32t 2 f3nmg q96 T 99 e AHT &dar o3 U fummar fifw & faar
wigr 3t 3T W3 A & 9 T I 39T S Tuar § 99 I F faa
HgJed 7 HJT d'e & 38 sfenr /13t & 339 o faa

g%-9% 799 HIA fdaT 93 nirfent gor uge 9T Afisar 3 faor

T foer g% gac feg Iat Hat T Yist & faar

IE gY H 3T gSfent It gar3 & dixfent faar ist & fxar
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LEP SHEET-3 (JAT=T)

nifsniR Bt fexiat ezl (U9 T Jof f83 ymst T €39 fau)

. “fit, 3F TH ggK 3T WI-wWT Wi | AT 4T, JUST, I, 3w, =<, fxomT afemre
frgs &t w3 3% A" =9 T & 3t Afenr € A fEw filg o9 T WIS e
fa3 sfger w11 8o g9 f g= €= 1”

1) feg Tazev fam feaiat s =t argt I°¢

2) THITT fagz I &g Ifder 2

3) feg mee dz, fam & afder I?

. fonr €2, 3 fHat| gaadnit| feo g9 g=ier 2! (TR ) for = finrs 2 X »irt
ferm Enit It § Hi® R o TTd uT W Adnit it AreeT 9F | fenr gaaEr
1) JeaEt & Hat far § sar8e &t o=t 7 It 32

2) &g fRw dE I°?

3) feg mow dz, fom & afder 97

. IF TF T Bue o917 &S 313 Tt 99 B uE f£9 g3 IfdTt 1 fusd "o
o5&t 21 3t, feo o= &t 3% 3T B di9 o St At 33X T famr &H 95, fenr,
=nf

1) I9 B ue &g far € AI3 & IfTeT I2

2) fer fextait © featatara @ ot & I°¢

3) I3 ©F 3% fam &= T I A9

. “nT g9, W 3978 ae fesardt Aist 2 # 35 A T €9 €2 T8 3T ¥ Tfr)
g9 &3t f3nre &9 e=far”

1) feg Tgswy for feaidl &9 Bt Bt 32

2) fer fextalt ¥ featatara e ot & ¢

3) feg mew dz, fom § fder 37

. fex 3= ’5 ugr fAudt 99 féx a9 =3 § I AT ¥ uT feger feo Hsww &t
Saur g3 I9 Tfent 578 €97 T

1) feg Tgswy for featdl &g Bt aret 32

2) AT IT TH B I I AFET J7

3) fam e 9397 €97 32

. B3 I 3 T Gus sfext € § AN It gAS § IS 96 H Aufentt T A
HTENT &7 I96 Aar NMABIS § Ygnt nidt 576 TuT|

1) TIHU nigAI featdtas fxd-d sfeat & 83 Higar J9er I°

2) guUfent &9 AHT FfenT a96 @@ afex fad-fAd Je I87?

3) feg muw dz, fom & afder 97

. feg 3w 3o Sadt T fenfsoe R won J9at odiet A fx 397§ WA Sfees &
B3 I fAr T Sa9 32 83 dT U9 Bl fAg9m agst 92, 8ot fonmras uie 9= U
‘U’ gg3t 99|

1) feg egs™y fan fegiat €98 st aret I°2
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2) &xdt 2 ferf3ag &9 o3t of® vaq st At
3) feg mow dz, fom & afder 97
8. “adl, feg a® adf, W' »wiuZ U9t '3 ySsr gder If Ug IAT Hel feg di® adt

CIN

AHSdrl”
1) feg Tgzwy far feaidlt fa Bt aret 32
2) dE »UE UJT I ydBaT grger I7
3) 3% AHSE 3 & MAHTE J7

9. “W 33 Awfanst & qe9 I If, ATt &9 feg-faor ¢ femem g odter 31”7
1) e &g fag-frgr fegem der grdter I°?
2) fer feaiat ¢ fextatarg v o &7 9?2
3) feg mue dz, fam & afder 97

10.“Qgd W' H3 AHES" U9 U9H-JIH © Jat &9 fersdt v edhr 95 @& Avw &
"6 RS9 €5 & Aoug I fomr ot fEad's S nme femet 3 HE HIA! auwEt It
¥ T AIGHIS T UyIEiet AT 3 gUB feu &t st U AeEr
1) J9e< I, AIoH3 § fad-fd miw &9 &5 & famr At?
2) fegat A3IT wigA™d 'HIAT a& AT?
3) TIe< IHST HIGHIS I of Ager J7°?

11.“Hg ufgst € Ha At1 €9 HY &7 »iyt 54 A& AxEdr| €ast €t ATES T FasHeT
ye g A Ifenr 3 39 B & uet fogx 3 ot 32?2 sig 79 IAT U= &=, €9 3!
ue 3 A 5dt | #ef 3t HIT &9t 9w, feag fem 39t € fust = mfenr S ue..
UD.... U9 HAg €, feg Baat S a3 &, a3 g 311”7
1) &g mae fam 3, fam § »i3 o< ad?
2) AI&HIZ & g7 '3 of B H?
3) AI&HI3 3l o9 off A9t 92

12.“€ IS | IHTT ATE JAT HHES T gni| »iy UAmet & & g978dt fag deT 1 miy
nige I WI A St AT StHlT a9 »id TATT B A AT 9 St StHiT a9eT? BaH &
g2, AH! AH "
1) feg mae fan 3, fam § =97
2) HIAT mMUT % J¢ fa/ OY ©F 31% S9<t J°?
3) HIAT ‘HIH & g2, BH! H ! &8 afddt 32

13.“%* &t JAmg 3° Ioe Sfamit aan urdl A/, »ust seatet = Aova 898 & X fenifar
AHEY U € f9TH &% HIAT T HIar J9 9% AT, AJGHIS T &dt 3 9T HAI&HIS
AJt F9ATEl, S TUR &4t Adit| 7 €T ISt 3t A IR 3 Jw  A_at|
1) BYe< gA<T & faa3t A ydt A
2) fer 93y &g Fue< gweT, HIAT 99 of afder I°?
3) YT AT ©F HIGHIS &% of fIH3T HI?

14.“09" & fed fir®s T A IHE § 37  IF § AE-ASTE BE fEa gole ot
8ust &t fogws T H39-vew f€37H J9er gt 76, Hiv veHt w9 Tur fRw §
TITI-HH S8 THa 9| W f3nrg § & Aset nii@er o1 ”
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1) f&g maeE Az, fam & nmEr 97
2) Widdamg AT & faasT SH a9s Bt g 8T 97
3) T999-4H K9 fagt § om9 I= &t fagr famr 37

15.“5dt 3 gau 9 foor T »iEa 3 niggs = &xF © fest § fiss &% I ot
stgt et getnrt g1 Y, He™S, IAYS, HS, AT, Hinr, A&, J& fdg At 36t
IgHS 3 R 717
1) feg sasoy for fexidt f9° Bt w32
2) I Tt &gt fa=” Uehmt Ittt I8 7?2
3) WidamE € IgH3 3 et fags S T fagd atsT famrr 97

16.“FH X' 8H T Iy 391 go'Ed ¥ 3B € gaH €37 Al Hare 89 Heel e At us
THIT H'8 3 H™ & g8&™H Ji3T I wi9 fersH &t 3dts it 31 €A, 8R 3 four Aer
fest ae?”

1) f&g o dz, fam § afder 39
2) fegst 8337 feu® AgT ‘BA © g’ fom mHA3 <% feraT 9w 57
3) THIT H'E & Widdmy €7 &f fae €& 377

17.“H3™ 3t I &1 ager /inf, AT MUE UsT T g fenro @ s9° 6T 9f9s €1 ue
HE /Y, W Hare® &at° Bfas @t, WSt @dt| gAt &9 AEt, W@ U w gw fermg, W
303 TF I AAE T X F HI A=V
1) feg o fam 3, fam § =397
2) Harz &t #R 8R 3 fam 3@ = s97er fodt J7
3) AR & &3 39< © Aau fS9 Hadls of nmaet 37

18.“7%" gy it fAurdt 39t 9T st Quat = fenrg Ifenr w1 AIT9 76 3B 3 fex
Hs 3 f&x 331, #° 3 3= & 4t Uer 98 3 gy 7 3 mfee &t ga3 3° Wat g A
& TEt &7 AHfsmr 3 g fenrg g9=T fonm
1) f&g mae fan 3 fam § 99
2) gy i ¥ A9 g5 '3 ufge 9 ot @ gfenm?

3) gy i € g fenrg a9 i Bust €1 fast AY aH J9et HI?

19.“gdt 3t T, U 31 ot M? gt T 3T HG UsT E | melteee T we Ot ferg X
HY & R St 3t 2>
1) f&g maw dz, fam 3 afder 39
2) Jafes fiw g A o & usT J7
3) q9fe3 fRw »wigAg B8R & Ot @ et J= = off J9s I°?

20.“3} ag, #E HE adt, ¥ 39 &% fAgdnt gx fenrg St aist st 31 1 &t
W' 3t »iy B gF feng T g8 g9 S gat ot At Ot '3 feg ISt faed uy =
eB 7 F "zl W7 fAod ag B 33 ¥-au® 9 3, B9t g% ©t B 33 3 Toarg
3 WSt Haret nif |
1) feg mae ds, fan § afder I7
2) fsos dg wmust ¥g 3 Hiet faf Haret 32
3) foo® 9 niudt ot & fqost "It & 9% 9ot T2

A fHftmr fegmar Jame 3



CEP Phase-2(2024-25)
Class 10th

Subject: Mathematics

Tr3feq Hftmiet (Real Numbers)
(1 mix T& YAS) (One marks questions)
1. I &S Aftmret f&9° fxast Rftm ufan Aftmm T2 Which of the following numbers is rational number?

(a) 75 (b) 6+V2  (c) V23 (d) V36
2. J6 &St Aftmret feg” fxadt Aftmi wiufanw Aftmi™ T2 Which of the following numbers is irrational number?
(A) (3+V23)-V23 (B) 2-V5 (C) V25 (D) jT‘F;

3. A% 3 221 30 Rt ni3 A 3 8¢t »is™ A T HA.E of Jer J7
What is HCF of smallest prime number and smallest composite number?
(@0 (b)1 ()2 (d)3
4. A8 3 22 3T Aftmi™ i3 AZ 3 221 wig™ At @7 B.H.2 o Jer J°?
What is LCM of smallest prime number and smallest composite number?
(@4 (b)1 (c)2 (d)3
5. @ B39 fAAs Aftwret @ HAT o Jer J? What is the H.C.F. of two consecutive even numbers?
(@) 1(b)2 (c)a (d)8
6. &9 € Aftmiet & HAR 1 39 3F Aftmret § &ff faar Afer 32
(a) 37 Hftmret (b) Afg nigT™ Aftmiet () y3s Hitmret (d) niufore Hftmret

If the HCF of two numbers is 1, then the two numbers are called

(a) Composite numbers (b) relatively prime or co-prime numbers
(c) Whole numbers (d) irrational numbers
7. f&3 Toads Ju &9 nifomrs At ot J2ait? [ 18
The missing number in the following factor tree is:
(@) 9 (b)2 (c)6 (d)3

. forit ufgi #ftm & p/q @ 9 feg TORER F fo wEt Agt HeS faodt 37
Which of the following condition is required to show that p/q is a rational number?
(A) a0 (B)a=0  (C)p=0 (D) p#0
9. fEa ne™ Aftnr T fdd a8 I€ I&? What is the number of factors of a prime number?
(a) 1(b)2 (o (d)3
10. 2 Hftmire & A, (LCM) W3 HHE. (HCF) gHIT 182 w3 13 J| A fegt fod fa Hftmr 26 I2 37 gt At

U331 The LCM and HCF of two numbers are 182 and 13 respectively. If one of them is 26, find the other number.

(a) 91 ()20 ()75 (d)66
True/False(AJ/dI%3)

1. 8 nigm Aftnr 2 S5 7 55 3° <0 geaus I I6 (AI/A%S)
A prime number has three or more then three factors(T/F)
2. 39 fEa 3 Aftmr § i Aftmret @it wist T gEees © JU fe8 T9ATent AT Aaer J1 (AIASS)
Every composite number can be expressed factorized as a product of powers of primes. (T/F)
< Afonsa Hftmret @ %.7.T Aftmret & gt @ 999 JeT J | (HI/A%3)
The LCM of two co-prime number is equal to the products of numbers. (T/F)
4. 26 »3 91 T H.AE 13 I (AJ/ABI) The HCF of 26 and 91 is 13. (T/F)
7x11x13+13 f&x 37 Aftmr I | (AA/A®3) 7x11x13+13 is composite number. (T/F)

W

6. 6. % fex ufgra Afemr T 1 (FA/A®3) % is rational number. (T/F)
yH FES 99 -
1. HS9 a »i3 b USSHA HYTE Hitmet 95 3THCF(a,b) x LCM(a,b)=...............

If a and b are positive integer then HCF(a,b) x LCM(a,b)=...............
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3. fex ufonm Rfinr w3 & niufone wfir e Ages B . At gt I

The sum of a rational number and an irrational number is .........cccoeuuene
4~N5-3-2fx AT T1 V5 -3-2 05 Number
5.% Afg-nig™ Aftwret o AT IHAT . JTT T The LCM of two co-prime number is always ..........
6. © Afg-niga Aftmiet &7 HA.T INET .. JTT I The HCF of two co-prime number is always ...........
7.3Vsx2Vsfea AT T1 3v5 x2V5 i, Number

ggu< (Polynomial))
(1 mi& & YrAs) (One marks questions)
1 Jot sttt f&8° faast ggu= T2 Which of the following is a polynomial?

A -6V +2 B)\/;+\/i§ C)— D)x2-5

x2-3x+1

2. T-urst ggue &t w3 fIat JEt T2 What is the power of a quadratic polynomial?

A1l B)O C)-1 D)2
3. It gguT < w3 fI&t gt J? Whatis the power of a linear polynomial?
Al B)O (C)-1 D)2

Lo W aXel

4. It gguT ax+b © fAedt < fa=3t st g<t J? What is the number of zeroes of linear polynomial?
A1l B)O C)3 D) 2
5.2 fex ggue I fARet w3, J1 /2 is a polynomial of degree ... ...?
A)1l B)O C)3 D) 2 Y
6. fom ggue p(x) T €3 »ey 3° fAeat &F fasst uzT a9 |
Find the number of zeroes of p(x) from the given graph.
A) 1 B) 3 C)4 D) 2 9)
8. et TA3fex At “a”, f(x) <t fAeg J<t d= 37
If “a” is any real number be a zero of f(x) then
(a) f(a)=-1 (b) f(a) =1 (c)f(a)=0 (d) f(a) = -2
10. p(x) = (x — 1)(x — 2) it fARETT o I&? What are the zeroes of p(x) = (x — 1)(x — 2)?
@12 (M -12 (12 @ -1-2
11. f&x @-wr=t goue AR © fAea’ @ 73e® i3 JEae® -3 M3 2 I
A quadratic polynomial whose sum and product of zeroes are -3 and 2 is:
@x*2—3x+2 (M)x*+3x+2 ()x?—2x+3 (d)x>+2x+3
12. 759 o, p ©-urst AHtEE x2 + 7x + 12 Ehoff fAgdt 93 3T a+p=
If o, are zeroes of the polynomial x? + 7x + 12 ,then a+p =
(@ 12 (b) -12 (c)-7 7
13 799 a, P T-wSt AEaE x2 + 7x + 12 Enif fAga’ J= 3T af=
If a3 are zeroes of the polynomial x? + 7x + 12 ,then ap=
@ 12 (b -12 (c) -7 (d)7
14. AISFE y = ax? + bx + ¢ © J[E T Wa'd GUI I ¥ I9edsT I Aag:
The shape of the graph of the equation y = ax2 + bx + ¢ will be an upward-open parabola if:
(a)a=0 (b)ya=-1 (c)a>0 (d)a<0
Jot €3 IEs At I6 7 I3

1.39 fAed ne® Aftnr & w3 fAeg Jet I2(AJA/a®3)The degree of a non-zero constant polynomial is zero.(T/F)
2. f¥x g-wr3t ggue = e AI® JuT ger J (AJY/a®3) The graph of quadratic polynomial is a straight line.(T/F)
3. f8x T-w=t ggue fAr @ fAed’ @ 13e® WS IE6e® 0 M3 5 d° x2—5 JI ( AS/A®S)

A quadratic polynomial whose sum and product of zeroes are 0 and 5is x> — 5 ( True/False)

TS AETE 39—
LW ¥ ggUT § JH FOUT AMTE TS| v degree polynomial is called a linear polynomial.
2. U TH IGUT B ... Ffde I&| A polynomial having degree one is called ...............

Jer J1 The graph of a quadratic polynomial is ..................
Jet T1

2|Page



5. 799 fai 2-w=t gguw T iy x U9 § faz & adt e 3F 8F S-wst sgue © fredt S faest L Jet
JI
If the graph of quadratic polynomial does not cross the x-axis anywhere then the number of zeroes is ..............
6. 7 o M3 P T-WTSt TYUT ax? + bx + ¢ it T fAedT Iz 3t fAga’ T Jzoe® ap=
If o and B are zeroes of quadratic polynomials ax? + bx + ¢ then multiplication of zeroes of......ccc.........
7. 799 o M3 B E-wSt FgUT  ax? + bx + ¢ ©if © fAgTT d= 3 fAedt T A%e®  a+p=
If o and B are zeroes of quadratic polynomials ax? + bx + ¢ then sum of zeroes O+P.....c.cceevee...
¢ g% &9 it mAITSt T §3 PAIR OF LINEAR EQUATIONS IN TWO VARIABLES

(1 »ig T3 yrAs) (One marks questions)
1. It AHISTs y - 5=0 27 » &Y J:-

(a)fex Jur (bfea e (offgag  (dfegt fes It 5t
Linear equation y - 5=0 has graph of :-
(a) astraightline  (b) a point (c)a curve (d)none of above
2. AT 3x - 3y = 4 N3 2x +y = 5 T1/2 I Jdn/J=dr?
(a) A=t I» &It (bia3 3% (o)ffa I (d)E I®

The equations 3x - 3y =4 and 2x + y = 5 has solutions?
(a) No solution (b) infinite solutions  (c) One solution  (d) two solution
3. k @ K& AR et AHiagat kx—y =2 M3 6x-2y =3 & f¥q feduz I% I7

The value of k for which a system of linear equations kx —y = 2 and 6x - 2y = 3 has unique solution?

(a) k=3 (b)k= 3 (c) k=0 (d)k£0
4. IHEEs ys&#t y=0m3 y=-7 =
(a)ffx I® T (b)T IB I& () nia3 IS Ia (d) =T I% &t T
The pair of equationsy =0and y =-7 has
(a) one solution (b) two solution (c) infinitely many solutions  (d) no solution
5. AHIa9s YS&l x=a M3 y=b T n&
(a) AHT3T J| (b) (a,b) 3 eer T (c)AuUTst T (d) (b,a) 3 =T T
The pair of Equations x = a and y = b graphically represents the lines which are
(a) parallel (b) intersecting at (a, b) (c) Coincident (d) intersecting at (b, a)

6.19 (6,k) AHIATS 3x+y—22=0 & &k I% J 3T k T HS J<ar
If (6, k) is a solution of the equation 3x + y — 22 = 0, then the value of k is:

(@4 (b)-4 ()3 (d)-3
7. 99 © Mt milage’ § & SIREE AIS vt wiyA g g i '3 e 37 fede milags v g ot 3 »
(a) B fedbue I5 (b) IE& IS &R (c) WAHI g ST widx I8 (d) foge™ &5 Jt &t

If graph of a pair of linear equations intersect at one point then the solution of pair of linear equations are :
(a) one solution  (b) no solution (c) many solution (d) none of these

8. FAHIIEr x+y =14 W3 x—y =4 f&9 x »3 y T H& J=d: The values of x and y from the equations x +y =14 and x—y

=4 are:
(@)x=9,y=5 (b)x=5y=9 (c)Jx=8,y=5 (d)x=7,y=8
9. IIATE 3x—y =3 M3 9X-3y =9 T oo T

(a) BT fTBYs I8 (b) A IS & (¢) WHITH3 TS (d) figs™ ST It &t |
The equations 3x—y=3and 9x -3y =9 have ......ccccecevvuevree.
(a) A unique solution (b) No solution (c) Infinite solution (d) None of these.

True/False(AJ/a®3)
1759 € AHIITST T midy STeeit Jutet 3= 3T midast @ I8 Hars Je J(AJ/A®S)
If graph of two linear equation is intersecting lines then the solution of equation is consistent. (T/F)
2799 € AHIFEsT T miidy AUTSt 92 3T AHidEsT ©F I8 wiRdIs de' J(AJ/a®s)
If graph of two linear equation is intersecting lines then the solution of equation is inconsistent. (T/F)
3.FHISTE x=a & »idy f¥q iUt JuT I, 7 x- g9 © AHIST Jt J | (AT/A®S)

The graph of linear equation x=a is a straight line which is parallel to x-axis . (T/F)
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4.m—ﬁaaﬁ'ralx+b1y+c1=0m—3’a2x+b2y+c2=0f€€ﬁa€ bl ClU_‘G’BT fegst T agt I% &It
I | (AJH/A1®3)

1_111 c1

If in equations a;x + byy + ¢; =0 and a,x + b,y + ¢, =0, Z— then these have no solutions . (T/F)

252

5. ASEs" a;x + by 4+ ¢ = 003 a2x+b2y+c2=0ﬁgﬁaaﬂ=%=cl“ 3t fegst T o I% &It

az 2 2
JeT | (AJH/A1®3)
by
b,

6.FHIITST ayx + by +c¢; =003 ayx + b,y +¢, =0 %Uﬁa—d qtbl“ F fegst T fEx 9% JdTT | (AJ/as3)

If in equations a;x + by + ¢, =0 and a,x + b,y + ¢, =0, % =—== C—lthen these have no solutions . (T/F)
2

If in equations a;x + by + ¢; =0 and a,x + b,y + ¢, =0, % b—then these has one solutions . (T/F)
2 2

Y& AES 39:-
1.7 9t miteEst € A3 Ao 9= 3T Qagf r oy REGIM
If pair of linear equation is consistent then graph of these equations are..................
2. 7 it miaest @ 7 wikers 9T 3 Gagt e oSy . Fam
If pair of linear equation is inconsistent then graph of these equations are..................
3.H’)ﬂaa??'falx+b1y+cl=0m§a2x+b2y+cz=0%€ﬁa€2—;¢2—:5‘€'3+f86?#? ____________ I% Jevi
If in equations a;x + by +¢; =0 and a,x + b,y + ¢, = 0, ﬂ +* ﬁthen these has .....cccoevvevennnee. solutions .

4%%3&%@%%&9%@&@3&?3&%?# . I

When the graphs of two linear equations are parellel, then the pair of linear equations will be....

5.75d © g% g Rt mfldast T A" A3 I° 3t @ It milagst § TIAgT @M AIS U< ....... Jemit Ia
If a pair of linear equations of two variables is consistent, then the lines representing these equations will be..................

swrst AHieGE Quadratic Equation

1 Jot fdnit 29" faagt Surst mitags I2 Which of the following is quadratic equation?
A)(x—2)(x+1)=(x—-1D(x+3) Bx3+x2+2=0 C)x*+11x+30=0 D)x*-5=0

2.9ust x2 — 5x + 6 = 0 AHIGSE ¥ H® J: The roots of quadratic equation x2 — 5x + 6 = 0 are :

A)5, -6 B) 2,3 C)-2,-3 D) -6,-1
3AHETE px?+ gx + r = 0T HS U3 I, f® p#0 I: Find the roots of quadratic equation px? + gx +r = 0 where

p#0
(a) —q% qz —4pr ( ) CI"vq —4pr ()

q%—4pr

q
2p— q+‘/q —4pr ( )
4.F|a—dmﬂaaﬁ ax2+bx+c-0€7jwswaaa€?cw)jwsaw:

If roots of quadratic equation ax>+bx+c=0 is equal then value of ¢ is :
— —_ H2 2
A= B) 5 €5 ©Of
5.p & AH3 AR BT x % px+4=0 ¥ 4% AKX J&JT | For what value of p the roots of equation x 2-px+4=0 is real

(A) p2>16 (B) p<16 (C)p>>-16 (D) none of above (f€a &9 o=t &dh)
6. TUSt AHtagE 2x%+x-6=0 = feAfpftae I | The discriminant of equation 2x%+x-6=0 is
(A) -11 (B)13 (C) 25 (D) 49

7. 79 AHETE ax? +bx +¢ =0 T fEa % TAT T 8% gy IT 3
If one of the roots of the quadratic equation ax? +bx +c =0 is reciprocal of the other then
(AYa=b (B)b=c (C)a=c (D)a=-c

8. T WSt AHISTE ax? +bx +c =0, a0 © Y THIRH W3 §5-195 I I Adg

The roots of the quadratic equation ax>+bx+c=0, a#0 are real and distinct if :

(a) b2-4ac< 0 (c) b%-4ac=0 (b) b>-4ac > 0 (d) None of these (f&a" f&g =t &Jt)
9. k ® 5T 13 B € W3t mHiagE 2x2+kx+3=0 € 59 U IS

If the equation 2x2+kx+3=0 has two equal roots, then the value of k is:
(@43 (b)£2V6 (c) +3V6 (d) £2\3

10. T Wt MAAIE ax?+ bx + ¢ =0, a0 T T THIfCH W3 FIIHI ¥ I I& A

The roots of the quadratic equation ax>+bx-+c=0, a#0, are real and equal if
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(@) b?>-4ac =0 (b) b2-4ac>0 (c)b>4ac<0 (d) None of these
11. T B3I U&IHI AYIS Aitmiret {39 fdfes wi3g der 32 Two consecutive positive integers differ by :

(@2 M3 (©1 (d) 4
True/False(HJ/a®3)

1799 AflagE ax? + bx + ¢ = 0¥ HS AHS J€ 3t D 20 7 J | (A 7 I183)

If roots of quadratic equation ax? + bx + ¢ = 0 is equal then D >0 (T/F)
293 AHIGSE ax? + bx + ¢ = 0 H® TASFR &' I& 3T D >0 g7 J| (A AT I183)

If roots of quadratic equation ax? + bx + ¢ = 0 are not real then D >0 (T/F)
32-urst mitedE ax? + bx + ¢ = 0 © fEAfQEZ b? — 4acT| (AT 7 IB3I)
The discriminant of quadratic equation ax? + bx + ¢ = 0is b? — 4ac (T/F)
4. fea 2wt milads © U 3 U € TR3fed ¥® I 75 | (AA/AS3)
A quadratic equation have maximum two real roots. (T/F)
5. Turst AHiESE x%1=0 € H% 1,-1 76 | (AJ/a%3) The roots of quadratic equation x?-1=0is 1,-1(T/F)
6. 9% x fg Twrst AHiESE ax? + bx + ¢ = 0% gu &g It I fa8 ab,c Tw3fea Afimrer g8 M3 a=0(Ad/a%3)
A guadratic equation in the variable x is of the form ax? + bx + ¢ = 0 where a, b, ¢ are real numbersanda = 0 (T/F)
7. ax®+ bx + c=0a¢0€f—un3°fm-ﬁaaz?@ﬁmﬁ§u%|(ﬂtﬁ/am3)
ax®+ bx + ¢ =0, a # 0is called the standard form of a quadratic equation. (T/F)

S AETS 39:-
............ HE BT AHIFIE 22 + kx + 2 =0 ¥ HS AHG J&dT |
The value(s) of k for which the quadratic equation 2x? + kx + 2 = 0 has equal roots, iS.....................
2 T-urst mitegE x2+4x+1=0 = fsAfpiae. ... . I Thediscriminant of X2+4x+1=01s..........................
3 g-wrst miagE 3x2-x+1=0 & f3AfaHide. ... .. J1 The discriminant of 3x%x+1=0is..........................
4. 2wt QU ax? + bx + ¢ Eff fAeat S T-wSt miags ax® + bx + c =0T HS...........

The zeroes of the quadratic polynomial ax? + bx + c and the roots of the quadratic equation ax? + bx + ¢ = 0 are the

MFAEIK FFMit Arithmetic Progression (1 »id & YH&) (One marks questions)

1. A.P. 3,1,-1,-3 = AT nizg J| The common difference of A.P. 3,1,-1,-3is
(@ 2 (b) -2 (c)3 (d)4
2 I3 foftmrt feg" faos fon vix Jfesa &3t © ufas n ust © 73S S, T B39 J, e a ufgsr ue »i3 d AfsT »isT
Ji-
Which of the following is the formula for the sum of the first “n” terms of arithmetic sequence, where d is the common
difference and a is first term?
A) Sn=g[2a+ (n+1)d] B) Sn=§[a+ (n—1)d] Q) Sn=g[2a+ (n—1)d] D) Sn=n[2a+ (n—1)d]
3.1 JIfesd &3t 4,10, 16, 22 , ..... TT W& UE J<d—-  The next term of an AP 4,10,16,22,......... is
A)25  B)26 C) 27 D) 28
4 M IfE3K 3T -5,-1,3,7, ... & A& U J2dM—-  The next term of the AP-5, -1, 3, 7, .... is
(a) 10 (b) 12 (c) 11 (d) -12
5. I35 fodmit Aftmret & LEl &9 faadnt ffa A.P =6 I&? Which of the following list of numbers form an A.P ?

() 4,10,16,22  (0)-2,2,-2,2,-2, . (01,1,1,2,2,2,3,3,3,.. (d)2,3,5,7,10.....

6. Ufg@sMT n Yfa3a At 27 73e% U3T &9 | Find the sum of first “n” natural number
@n ()2 (n?+1 (d) 2222

7. Ufg@it n 2 Aftmiet 27 93€% UST 9| Find the sum of first “n” odd natural number.
(a) n? (b) n?-1 (c)n?+1 (d)2n-1

R.Ufg&SMiT n faA3 Aftmiet @7 43€®% U3 A9 | Find the sum of first “n” even natural number.
(a) n? (b)n?2-1 (c)n?+1 (d)2n-1
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9.8H A.P. T HIST ni39 & J=4dr fHATT nifsH uT a,=2n+13J<:
The common difference of the A. P. whose general term a, =2n + 1 is:
(@)1 (b) 2 (c)-2 (d)-1

10.AP. 2,5, 8, ... ,35 &g »ifar ue 3 43t y= U3 I | The 4™ term from the end of the A.P. 2,5, 8, ,,,,,,35
is
(a) 29 (b) 26 (c) 23 (d) 20
11.35 o3t 35" fxast A.P. 3dT I? Which of the following is not an A.P.?
(@) 1,4,7, .. (b)3,7,12, 18, ... (c) 11, 14, 17, 20, ....... (d)-5,-2,1, 4,.
12759 AP. p-1, p+3, 3p-1 &9 T5 37 p 59799 J2dm:- Ifp—1, p+3, 3p—1arein AP, then p is equal to
(a)4 (b)-4 (c) 2 (d)-2

True/False(AJ/A1%3)

1. A9 an =3 + 4n I A.P. T nT UT I 37 forAer 10<F UT 40 J=IM (AJH/IH3)

If an =3 + 4n is the nth term of an A.P. then its 10th term will be 40. (True/False)
2.A.P., -3,-5,-7, .. AT n39 -2 Jl (AJY/a®3)The common difference of the A.P., -3, -5, -7, .. is -2. (True/False)

3. Ufg® 1000 T&3HS YIS Aftmiret T 7F 500000 J1 (A /IB3)

The sum of the first 1000 positive integers is 500000. (True/False)
4. -10, -5, 0, 5, ———--—- T 1527 YT 60 JI (AA/A®3) The 15 term of -10, -5, 0, 5, - is 60. (True/False)

5. 5% Yfgd 100 JrEAT T HF 50500 I (A /IB3) The sum of first 100 multiples of 5 is 50500 (True/False)

Y% AES 39 -
1.A.P.37,33,29,..oouue..... C IR A I The 10t term of A.P. 37,33,29, ........... T
2. A.P.3,15,27,....c.cc...... T US| J<AT| The next term of A.P. A.P. 3,15,27, .. iSeireerne
3.A.P. 47,41,35,29,............. AT Wisg Il The common difference of A.P. A.P. 47,41,35,29,......... Sueeeneen
4. Vix IfEf=3x &3t 7,17,27,37,47, ... TRt UE L .. Jar|
The 17th term of the arithmetic series 7,17,27,37,47,............ will be.
f3gA(Triangle)

A
1.7 AABC=APQR J 3t J& f&ftmit f&8" fxas™ AdT I21f AABC = APQR then which of the following is true 2
(A) BeR (B)C~Q (C)A«R (D) AP

D E
2.fe3 ar¢ fg39 29 DEIIBC J1 & AD = 2cm, AB = 5cm i3 BC = 7.5cm 3t DE ¥ H& U3 o |
In given Fig. DE || BC if AD=2cm, AB=5cm and BC=7.5cm then find the value of DE B C

A. 1.5cm B. 2.5cm C. 3cm D. 5cm
3.fg39 f<9 DEIIBC J17 AD = 5¢cm , DB = 8cm m3 AE = 7.5cm J 3t EC=?
In given Fig. DE || BC if AD=5cm,DB=8cm and AE=7.5cm then find the value of EC.
(A)8cm (B) 12cm (C)13cm (D) 15cm
4.f539 f&9 DEIBC 17 AD = 25cm, AE = 10cm, BD = (x+3)cm 3 EC = xcm 3 x €7 H& J :
In given Fig. DEIIBC if AD=25cm, AE=10 cm, BD=(x+3)cm and EC=x cm then find the value of x.
A) 2cm (B)3cm (C) 4cm (D)5cm

5.f939 = niftmis J9a J6 feftmit &8 At 98 g3

By observing the following fig find the correct statement .

(A) £P = ZA (B) £.P=2/B
(C)«P=«C (D) none of these

6. fg39 <9 DEIIBC 337 EC ¥¥ H& U™ &9
In the given fig DE || BC then the value of EC is
(@ 1lcm (b)2cm  (c)3cm (d)4cm
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7.f83 fo39 @9 £ZP = & U™ 9 In the given below figure, the value of 2P is

(a) 60° (b) 80° (c) 40° (d) 100°
R
A 603, 7.6
- 8¢ 33
B § < P 12 Q
True/False(AT/A1%3)

.37t € fed AHS Aftn % € 8ggH AHY d¢ I8 A9 () BT € A de 99799 JIT »i3 (i) Bgf i Has
IATT AHTS MEUTSt I& | AJ/aSS
Two polygons of the same number of sides are similar, if (a) their corresponding angles are equal and (b) their
corresponding sides are proportional. True/false
2. € ATEIAH nifgShot THAT AIHIY IEit 96| AdY/AeS
Two congruent figures are always similar. True/false

3. ¥ AHY nirfgShott gHET ATgTAH Jehrt 951 Adt/ass

Two similar figures are always congruent. True/false
4. AJ I3I3H AHIY JT T&| AJ/AB3

All rectangles are similar. True / false
5. HHS ZATET I8 HY I98H HHY J€ I5 | Adl/ 353

The polygons having same number of sides are similar. True/false

YISt AES 39:-
(N | triangles are similar. A9 ... . 337 AHgY J¢ I3
2 AICIICIES Are. ... ASOST RERLT
3. AllSQUATES are ..........vveeeeeeeeenn, A &I Je T |
4. gt & g AHTS Bt @& € gg3d AHGY JT 95 799 () @af T RIS &=L = m3 (i) Bt St a3
FAR J=|
Two polygons of the same number of sides are similar, if (a) their corresponding angles are ...................... and (b) their

corresponding sides are

Coordinate Geometry

=g feasityms MCQ
1L.P(X1, Y1) W3 Q(Xz Y2 ) fegarg gl € 539

The distance formula between two points P(X1 Y1) and Q(Xz | Y2) is

8) V(X —X1)? + (¥, — V1)? b) V(X + X)) — (¥ +¥)

C)\/(Xlz _Xzz)‘|'(y12 _Yzz) d) \/(Xlz _Xzz)_(y12 _Yzz)

2.189€P (X1, Y1), Q(Xz2,Y2) W3 R(Xs, Y3 ) B {330 ger@d Asg

Points P(X1, Y1), Q(Xz ,Y2) and R( X3, Y3) will form a triangle if

a) PQ + QR > PR b) PQ + QR = PR

¢) PQ+QR<PR d) PQ-QR>PR
3.fde (a, b) "3 (-a, -b) fegarad gt It

The distance between points (a,b) and (-a, -b)is

a)2VaZ + b2 b) 4(a2 + b2 )
c)2(a +b?) d) a® + b?

4. 71 99 © foA & fHigw & et © fsger wix (2, -5) w3 (-2, 9) IT 37 9ad © ded © foger wig J=at :
If the coordinates of the points at the ends of the diameter of a circle are (2, -5) and (-2, 9), then the
coordinates of the center of the circle are :

@ (0,00 ()59 (0)(2-2) (d) (0.2)
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5. x-3 '3 A3 fan ffig T a1t fdar I=dr 2 What is the ordinate of a point on the x-axis?
(@1 (b)-1 ()0 (d) 2
6. y-U3 '3 A3 fan fifg © 37 fdar I=9T ? What is the abscissa of a point on the y-axis?
(@1 (b)-1 ()0 (d) 2
7. The distance of the point (2, -3) from x-axis is....... x-gg 3 Tél_g’ (2,-3) <t gEl’T I
@0 (b)-1 (©2 (d -3
8. The distance of the point (2, -3) from y-axis is............ y-Od 3 fH‘g’ (2,-3) <t g‘é’f I
(@0 (b)-1 ()2 (d) -3
9. The distance between the point (a, b) and (0, 0) T‘EI_E' (a, b) W3 (0, 0) fegarg géré -
(@)VaZ+b2  (b)VaZ—b? (c) Vb% — a2 (d)Va-b
10. The distance between the point (4,-3) from originis:- g (4,-3) € H& ¥g 3 gEﬁET -
(@4 (b)7 ()5 (d) -3
11. Coordinate of any point P on x-axis : x- Ud 3 far fdg P ¢ fogen »iq :-
(@) (0,0) (b)(xy)  (c)(x0) (d) (0y)
12. Coordinate of any point P on y-axis :- y- UJ 3 far fdg P € fogen vix :-
(@) (0,0) (b)(xy)  (c)(x0) (d) (0y)

yH AES 39 -

1.fanfde ey u3 It Grfag e gag<t J | The distance of a point from Y - axis is known as

2. g P(x, y) STy g 3Tt g€td | The distance of a point P (x, y) from origin is
3. y% foig © fogem nix deI&|  The co-ordinates of origin are

At 7t 9133 ( True or False )
1f9¢ (0,4) y-ud 3nfE3 J I Adt 7 a3 The point (0,4) lies on y-axis. ( True or False)
2.faf Jumds o fifg (B2, 22 ) Ger 3 | (et )

The coordinates of mid point of a line segment is given by (u Nit¥e

2 ! 2

3. 1% fig € fager »ix (0,0) T& | (At A IB3)  The coordinate of origin is (0,0) ( True or False )

) (True or False )

4.fdg A(a,0) x-U3 3 AfE= JIAJT AT IS The point A(a,0) lie on x-axis. True or False
5. 8r fie © fogem »id (0,0) I& 8 x »= y U Jex I5 | A A 183

The coordinates of point are (0,0) where x and y axis are intersect ( True or False)
6.fir fifg & x fogom wix y-u3 3 Bz wat ot I AN IB3)

The x- coordinate of a point is the perpendicular distance from y-axis.( True or False)

Introduction to Trigonometry

1. A3 Sind = z—: J2 3T CosA e HE USTII | If Sind = z—: then find the value of Cos A
25

@= (b = (©1 @ =

24

: 13‘;:2220 T HS S I?  What is the value of 112’;:2220
(@) sin 60° (b) cos 60° (c) tan 60° (d) sin 30°
3.5iN2A=2sinARI Jor I A€ A=.......... sin2A =2sin A istrue when A=........
(a) 0° (b) 30° (c) 45° (d) 60°
4.9sec?A—9tan’A=....
@1 ®9 (©8 ()0
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5.AABC, C 3 AHIET d< 3T cos (A+B) T H® JdT|  If AABC is right angled at C, then the value of cos(A + B) is

(a) 0 (b) 1 ©) % (d) n.d.
6.5in30° 4+ Cos60° + tand5% =.......................
@)1 09 (08 ()0

7. 799 SinA = Cos AJR 3t A T H& U3T A1 If Sind = CosA, then find the value of A
@) 0° (b) 30° (c) 45° (d) 60°
8. 7T CosA = % I 3 Tand T HS UST A9 | If CosA = % then find the value of Tan A
7 25 24
@5 b 5 ©1 d =

9. 79 TanA = % J< 3T CosA € HE USTEI | If Tand = 15—2 then find the value of Cos A
12

@= b T ©F o =

10. AT sind = % I 3T secA THSUSTII| If Tand = % then find the value of Cos A
12

@= b T ©F o =

Y AES 39:-
1.sin20 =__
2.Sin900e s Jerd| Value of Sin900 is .
K R +sin?A =1
4. 1+tan?A=........c..cceeeen.
5. 5cosec?A — 5cot?A=..........cc...
6.1 —sec?A=...ccccciiiiiiiinnn.

HJt A B3 ( True or False )
1. (0,n2)RT0TTUE TS ST HE R SOT J |

The value of Sin6 increases with increase in value of 6 in interval (0 , w/2).
2. A=0° B8 Cot AUfggfas st 1 For A=0° Cot A is not defined.

3.0 € A9 HS' B Sind = Coso I J1 For all values of 0, Sind = Cos6.
4. Sind + Cosd =1
5.tan A ©T H® IJHAT 1 3° 227 g J1 The value of tan A is always less than 1.
6. AT fam ¥® FSE‘TsecA:% 3 T1 secA=§forsomevalue of angle A.
7.cot A, cot M3 AT JIE6eS JeT J1 cot A is the product of cot and A.
8. sin (A + B) = sin A + sin B.
9. 0T T &S sind T WS I 0T I
The value of sin 0 increases as 0 increases.
10. 0 @ TUE &' cosh T HS < =ger J|

The value of cos 0 increases as 0 increases.
Circles

1) & 9a9 it ?U 3 U fSai™ AHST AUdR Ju=t Jeit 76 |
How many parallel tangents a circle can have at the most?
a) T (Two) b) 35 (three) c¢) B3 (infinite) d)f‘E?j,?f f&g" I &1 (none of these)
2) f&x g9 Tnit faa AUTH Jur=t gemit I& |
How many tangents can a circle have?
a)© (Two) b) f& (one) c) »&3 (infinite) d) TAET (zero)
3) far fig Q3 £ 939 & AUIr JuT & BIET 24cm I w3 Q T AT JE9 37 TSt 25cm J 3T a9 © w9y fenmH

J<4: From a point Q, the length of the tangent to a circle is 24cm and the distance of Q from the centre is 25cm. The
radius of the circle is :
a) 7cm b) 12cm c) 15cm d) 24.5cm
4) fea fag P 3 €1 0 E9 T a9 3 € AUIH JU=T PA W3 PB I H f&x &1 7% 80° T q S&8E I 6
3T 2LPOA =7
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If tangents PA and PB from a point P to a circle with centre O are inclined to each other at angle of 80°, then ZPOA="

a) 50° b) 60° c) 70° d) 80°
5) fEg g A, 7 fEx 939 T AET 3 Sem T 3 J, 999 3 AUIH T & BIET 4 cm I, AT € »IU form Uzt
I~

The length of a tangent from a point A at distance 5cm from the centre of the circle is 4cm. What is radius of the
circle:-

a) 4cm b) 2cm c) 3cm d) 5cm

6) € AN Ed! 99 © »IU o™ 5 cm W3 3 cm I 135 939 & B /i< & 8978 UST 39 1 8¢ 99d § AUTH F9e!

J< | Two concentric circles are of radii 5¢cm and 3cm. Find the length of the chord of the largest circle which touches the
smallest circle.
a) 7cm b) 8cm c) 14cm d) 10cm

7) Hied fed fig P 3 O dvg 3 fan g9 ‘3 PA, PB AUIH e wyA &9 100° © JF ‘3 gaiif JT 3t LPOA
g978d I :If tangents PA and PB from a point P to a circle with centre O are inclined to each other at angle of

1000, then 2POA is equal to
a) 40° b) 60° c) 70° d) 80°
8) T T Jed ferel I fieT § AHETHS J9er J | (Adt / a1%3)
The centre of a circle bisects each chord. (True / False)
9) fea g9 <t fAge ffx &t rugr Iyt J<t I | (AT / I1%3)
A circle has only one tangent. (True / False)
10) feq Jur 7 €7 939 § © fHenrt 3 deet I° 8Rg AuTH Jur IfJT I | (AT / T%3)
A line which intersects a circle in two dlstlnct points is called a tangent. (True / False)
11) faR ga9 © niegst fie 3 939 3 © AR Juret fidhut 77 At 98 | (AT / a153)
From a point inside a circle, two tangents can be drawn on the circle. (True / False)
12) f&g JuT 7§39 ¢ fea fig 3 deet 7 €Fd I T5 |
A line intersecting a circle at one point is called a
13) fea AugE Jur T 999 57 gfenr AfsT fig afos@er J1
The common point of a tangent to a circle is called
14) ffx Tag €t 73T AUIH Ju=t I J5 |
A circle can have parallel tangent lines at most.
15) ¥ FugH 9o 999 6 Rt 3 st T

A tangent intersects a circle in point(s).

Areas related to circles
ﬁaﬁm@m@a@wﬁ: The formula for the area of a circle is:
i.A=Tr i. A = 2mr ii. A = mr? iv. A =1/21tr
2. #ad 8 999 T fonm 14 Hhieg 3, 3T fere wigu ferm i J 2

If the diameter of a circle is 14 cm, what is its radius?

—_

i. 7cm ii. 14 cm iii. 21 cm iv. 28 cm
3. Hdd f8q 999 =1 W 10 feqrdtt 3, 31 feATT §39eS ot I ? If the radius of a circle is 10 units, what is its
area?

i. 20T square units / 20 n2dd1 feardhedi i, 100m square units / 1001 241 fegreui
iii. 200Tt square units / 200 r =341 faqremi
4. 6 HIhied © U 29 45 f5ardl € dedt T T wiay font U3 T 943d9es J:
The area of a sector with a central angle of 45 degrees in a circle of radius 6 cm is:
i. 3T square cm / 30 2341 Hhited ii. 6T square cm / 6r <JdT H
iii. 91 square cm / on TJJ1 Heied iv. None of these / fegat fed o€t &dt
5. 60 3a1dl € dedt de »3 8 Hhiicd T W o Jad &g g gru €t Saret J
The length of an arc in a circle with a central angle of 60 degrees and radius 8 cm is:
i. 41 cm ii.8 cm iii. 121 cm iv. None of these / feagat f&d et &t
6. Hdd 12 Heied ® W3 =8 g Jag g fox igy feonml ¥3 =1 43988 36n <9d1 Hhied J, 31 f3ardt e
A IS THY St J 2 If the area of a sector in a circle with a radius of 12 cm is 361 square cm, what is
the measure of the central angle in degrees?
i. 30° ii. 45° iii. 60° iv. 90°
7. 794 61 999 T UG 20n cm I, 31 72 f391dt © dedt A @8 g gy &t Saret fdat J 2
If the circumference of a circle is 20t cm, what is the length of an arc with a central angle of 72 degrees?
i.2mecm ii.4m cm iii. 61T €M iv. 8t cm
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8. Hdd © AHATd! 9ddt © »du fo 1:3 © »igur3 g I<, 31 8T € ¥3a1 @ wigur3 ot Jear 2
If two concentric circles have radii in the ratio of 1:3, what is the ratio of their areas?
i.1:3 ii. 1:9 iii. 1:6 iv. 1:12
11. f69 JBag 3818 T UTT 14 Hied JE7 J| 3BT T BIF ¥3deB ot J 2
A circular pond has a radius of 14 meters. What is the approximate area of the pond?
i. 154 m? ii. 308 m? iii. 616 m? iv. 1232 m?
True/ False

1. gy Sardl IAH g9d 2 WJ © gared It JIThe length of arc is always equal to the radius of the circle.
2. 9 <1 B »idu foumHl 3 T dedl d< © nigutst JIThe arc length is proportional to the central angle of

the sector.

3. Y ITE H ITH IS T IIHST J: T T BEE=360° /AT TEx2ar
The formula for calculating arc length is Arc Length=360°C/entral Anglex27r.

4. 193 < Fagt T U S fagr 9, 31 fEd ded de o ¥ I9at 3 g o Saret g9reg It
If two circles have the same radius, the length of arc on both circles with the same central angle will be
equal.
5. g g9 feg, Tru <t Saet gy = 2 »i3 e § A3s ol e <t St ® gargg d=t 3|
In a circle, the arc length is the same as the length of the chord connecting the two end points of the arc.
6. U BT gad v)éi‘as’ga QEFT JIThe arc length is independent of the circumference of the circle.
7. A9d 10 Hehiled © U <8 994 T fan »iau fenmit b3 @ dedt A< 90 f3ardt 3, 31 99 & g < et
1431
If the central angle of a sector is 90 degrees in a circle with a radius of 10 cm, the arc length of the circle is
14.
8. o< Burel f¥q Ifyd WU I The arc length is a linear measure.

Surface area and volume (AT T7 339e8 M3 ME3w)

1. A cylindrical pencil sharpened at one edge is the combination of
(a) a cone and a cylinder (b) frustum of a cone and a cylinder
(c) a hemisphere and a cylinder (d) two cylinders

iy faag '3 3t i3t g fssg Jofims g 3
(a) B Hg w3 o fHg3g (b) B Hg T fEaa 3 i fAdsg
(c) B J5r w3 iy 83T (d) T 839

2. The volume of cylinder having height 'h' and radius of base 'r is
€T 'h' W3 gy fenR 'Y T fAB3g T wftss I
(a)émﬂzh (b)gnrzh (c) mr2h (d) mr3h

3. The volume of cone having height 'h' and radius of base 'r' is

godl 'h' w3 wigu fenrr 'r T8 Hy T wfe3s I

(a) im’zh (b) gnrzh (c) mr2h (d) mr3h
4. The curved surface area of a sphere is 616 cm?. Its radius is

85 318 T 259 AZF ¥939e8 616 cm? J1 oA T wigw fowH I
(@) 7cm (b) 5cm (c) 6cm (d) 8cm
5. Two cubes each of side 'a’ are joined end to end to form a solid(cuboid). Find the volume of the resulting cuboid.
IT UR 'a' T T uT g wee Se8 o8 fig 3 w3 &0 g7 AT I6 5311 &1 wee & Witss I
(a)a?3 (b) 2a3 (c)3a3 (d) 4a3
6. The radii of two cylinders are in the ratio of 2:3 and their heights are in the ratio 5: 3. Find the ratio of their volumes.
T fAs3at © wanfend 2:3 © wou's g I w3 §Ia & 9l 5:3 © w3 &g I 8T © wie3s' T wigus
Y3T FJ
(a) 27:20 (b)20:227 (c) 4:9 (d) 9:4

7. A cylinder and a cone area of same base radius and of same height. The ratio of the volume of cylinder to that of cone is:
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i oz w3 g © ward T wa™ forA w3 Gurdl 53rsg J | 39 T wift3s w3 g © wie3s T wigur3 &t J=4rm?
(a) 3:1 (b) 1:3 (c)2:3 (d)1:2
8. The surface areas of two spheres are in the ratio 16:9. The ratio of their volumes is:
2 Jifenf @ AT T 939e8 T WS 16:9 J1 §I6 © W3St T wgU3 I
(a) 64:27 (b)4:3 (c) 16:9 (d) 163: 93.
9. The volumes of two spheres are in the ratio 125:64. The ratio of their surface areas is:
2 Jifent @ wift3at T WeUT3 125:64 J1 86 @ AZT © U3ISH T WgU'S I
(a)5:4 (b)4:5 (c)25:16  (d)16:25
10. What will be the ratio of the surface area and volume of a sphere?

J1& & AZT T U3Jes 3 Weed T WU df J=4r ?
(@)3:1  (b)2:1  (c)4:3 (d)1:3
11. How many cubes of edge 2cm can be made from a cube of edge 8cm.

8 FH 3T T @ WE 3 2 AH I @& fd& WE I8 7 AdT I6°?
()64 (b)80 (c)32  (c)48
12. If the radius of a sphere becomes 2 times, then its surface area will become:
(a) 2 times (b) 3times (c) 4 times (d) 8 times.
A I T wIy fenrH garer &9 i3 A2 3 QAT AT T ¥U3des fdS grer J Aream
(a)TTE" (b) 35 &7 (c) I I (d) W& JET
Choose the true or false option for the following questions:
Jot i3 AT B8 Al 7 I%3 feasy ©F 9T d9:
1. Two cylinders have equal volume will always have equal surface area. ( True/False)
Add © 833" T 5989 We3s J° 3 8J6° © 99794 AT © ¥39es Jer JI(Ad/IB3)
2. The ratio of volume of cylinder and cone is 3:1. (True/False)
frgsa w3 Hg T wfess T wigurs 3:1 31 (AJ/I83)
3. The volume of cylinder is mr?h whose height is 'h' and radius r. (True/False)
€T 'h' W3 nigy fenrr r @@ fAS3g T witss weh I (F/I1B3)
4. The volume of cube is 6a® cm?® having edge 'a' cm. (True/False)
WE T W3S 6a° cm? I AT faaar a' cm I (AR /IB3)
5. Total surface area of hemisphere of radius 'r' is 27tr2. (True or False)
WIT fonA 1 T »igu IB & IS AZT T U39es 2nr? I (AJ/IIS3)
6. Surface area of sphere of radius 'r' is 47tr2. (True or False)
I8 & I% A T 939 4nr? I (AA/IB3)
7. Curved surface area of hemisphere of radius 'r' is 2rtr2. (True or False)
wWaT fon v T w9 IS € 99 AT T 939e8 2nr? I (A /IB3)
Choose the correct option to fill in the blanks in the following questions:
It i3 Yt (R vl & 395 B¢ At feasu e
1. Two cubes each with 6 cm edge are joined end to end. The volume of the resulting cuboid is......
6 Achicg © faaa @ @ we fAd 3 iz 39 g3 I8 Ia| &3 =n we T wiEss............ J
(a) 280 cm® (b) 360 cm? (c) 216 cm? (d) 432 cm?
2. The surface area of a cuboid is.................... WE'?:’E"TEJ"EFIS‘:TETQBEES ............... 3l
(@) 2(lb + bh +1h) (b) 3(Ib + bh +1h)  (c) 2(lb —bh —1h) (d) 3(lb —bh —1h)
3. A cube of side 4 cm is cut into cubes of side 1 cm, then total number of the small cubes are......
gt 4 Achiicd @ g we § 1 Adhiicd T3 A © we' Rg dfenr Aier 3, 3t 82 wer & 38 et ... 3l

(a)16 (b)32 (c)48 (d) 64
4. A solid formed on revolving a right angled triangle about its height is.......
(a) cylinder (b) sphere (c) right circular cone  (d) None of these

i maet f3ga & foret Godl T B UR 3 WHGE 3 ... SH YUZ Jer Ji
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(a) FRE3T (b) I () HS (d) fegat 139 det &t
5. The surface area of a cube if edge ‘@’ is...... IH ‘@’ T WE T A& AZ T U3IEH ............. ol
(a) 782 (b) 6a% (c)6a® (d)5a*
Probability

Each question carry One mark.
1. Ontossing a coin the probability of occuring head is
i fiHa § Geae 3 fd3 wee & Heres fdat It
(a)1 (b) % (c) % (d)o
2. On throwing a dice, the probability of getting prime number is
85 uA § dee 3, v At wigE & Heres et It
(a)1 (b) % (c) % (d)1/3
3. On throwing a dice, the probability of getting even number is
85 uR § dee 3, A3 At wige < Heres et It
(a)1/3 (b) % (c) % (d)o
4. A card is drawn from the set of 52 cards. The probability of getting a queen card is 1/13. (T/F)

52 Ufa & 37 &8 e U3 sfer A 31 89 © U3™ Wi &t Asear 1/13 31 (AJt/3183)

5. Two players, Sangeet and Rashmi, play a tennis match. The probability of Sangeet winning the
match is 0.62. The probability that Rashmi will win the match is ...

T fuzdt A3 3 Imil 2fan T 1o 93% I&| He3 @ fi3e & Ag<es' 0.62 J| Imit @ Ag fiss &t

AT e Jeqn ?

6. From a well-shuffled deck of 52 cards, the probability of getting a king is
It IgF S I 52 Uit & 37 39 s gremra wige & Aeres et It

(a) 1/3 (b) % (c) % (d) 1/13
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